
   268 – Botany 
  [Turn over 

3

1. Synapsis of chromosomes occurs in 
S÷μõ÷©õ÷\õ®PÎß Cøn ÷\ºuÀ {PÌÄ C¢{ø»°À |hUQÓx 

(A) Zygotene (B) Leptotene 

 ø\U÷Põmiß  ö»¨÷hõiß 

(C) Pachytene (D) Diplotene 
 £õUQiß  i¨÷»õiß 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

2. Identify the sequence from smallest to largest 
]Ô¯x •uÀ ö£›¯x Áøμ¯õP, Á›ø\ø¯ Aøh¯õÍ® PõnÄ®. 

(A) DNA → Chromosome → Nucleus → Cell 

 i.Gß.H → S÷μõ÷©õ÷\õ® → {³QÎ¯ì → ö\À 

(B) Chromosome → DNA → Nucleus → Cell  

 S÷μõ÷©õ÷\õ® → i.Gß.H → {³QÎ¯ì → ö\À 

(C) Cell → Nucleus → Chromosome → DNA 

 ö\À → {³QÎ¯ì → S÷μõ÷©õ÷\õ® → i.Gß.H 

(D) Cell → Nucleus → DNA → Chromosome 

 ö\À → {³QÎ¯ì → i.Gß.H → S÷μõ÷©õ÷\õ® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

3. The correct sequence of event in cell cycle is 
ö\À _ÇØ]°ß {PÌÄPøÍ Á›ø\¨£kzx 

(A) S – M – G1 – G2 (B) S – G1 – G2 – M 

(C) G1 – S – G2 – M (D) M – G – G2 – S 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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4. In animal cell, mitotic cell division was first described by 
Â»[S ö\ÀPÎÀ SßÓõ¨ £S¨¦ (ø©mhõiU) ö\À ¤›uø» •uß •u¼À 
CÁμõÀ AÔ¯¨£mhx. 

(A) W. Flemming (B) E. Strasburger 

 W. L¨öÍª[  E. ìmμõì£ºPº 

(C) T. Boveri (D) C. Yanofsky 
 T. ÷£õ÷Á›  C. ¯õ÷ÚõL¨ìQ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

5. Mendel’s first law is called 
ö©sh¼ß •uÀ Âv CÆÁõÖ AøÇUP¨£kQÓx? 

(A) Law of variation (B) Law of segregation 

 ©õÖ£õmiß Âv  uÛzx¨ ¤›uÀ Âv 

(C) Law of inheritance (D) Law of independent assortment
 £μ®£øμ Âv  \õº¤ßÔ Jx[SuÀ Âv 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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6. A cross involving two crosses in first cross ‘A’ is taken as male and ‘B’ as
female where as in second cross is its opposite. This is called 
•uÀ P»¨¦ ‘A’ À Cμsk P»¨¤Ú® EÒÍhUQ¯ J¸ P»¨¦ BnõPÄ® ‘B’
ö£snõPÄ® GkUP¨£kQÓx. CμshõÁx P»¨¤ÚzvÀ C¸¨£x Auß 
Gvº©õÓõP EÒÍx. Cx —————— GßÖ AøÇUP¨£kQÓx. 

(A) Reciprocal cross  
 £μì£μ P»¨¦ (öμ]¦÷μõUPÀ P»¨¦) 

(B) Test cross 

 ÷\õuøÚ P»¨¦ 

(C) Dihybrid cross  
 C¸ £s¦ P»¨¦ 

(D) Sib cross 
 ]¨ P»¨¦   

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

7. In Pisum Sativum there are 14 chromosomes. How many types of
homologous pairs can be prepared? 
ø£\® \møhÁ® 14 S÷μõ÷©õ÷\õ®PøÍ¨ ö£ØÖÒÍ {ø»°À GzuøÚ ÁøP 
K›ønPÒ Põn¨£kQßÓÚ? 

(A) 14 (B) 7 

(C) 214 (D) 210 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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8. Mendel obtained wrinkled seeds in pea due to the deposition of sugars
instead of Starch. It was due to which enzyme? 
uμzvØS £v»õP \ºUPøμø¯¨ ö£ØÔ¸¢uõÀ £mhõoz uõÁμzvÀ _¸[Q¯ 
ÂøuPøÍ ö©shÀ ö£ØÓõº. CuØS Põμn©õÚ ö|õv ¯õx? 

(A) Amylase 
 Aø©÷»ì 

(B) Invertase 
 CßÁº÷hì 

(C) Diastase 
 øh¯ì÷hì 

(D) Absence of starch branching enzyme 
 uμ\ QøÍzuÀ ö|õv CÀ»õø© 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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9. Assertion [A] : Plant cells have membrane – bound, liquid filled 
vesicles called vacuoles, which may occupy as much as
90% of the cells total volume. 

TØÖ [A]   :  uõÁμ ö\ÀPÒ \ÆÄPÍõÀ ¤ønUP¨£mk vμÁ[PÒ 
{μ¨£¨£mh SªÈ¯õS® (öÁ]QÒì) CÁØøÓ ~sSªÈ
(ÁõUS÷¯õÀì) GßQ÷Óõ®. CøÁ ö\ÀPÎß ö©õzu 

AÍÂÀ 90%  Áøμ BUQμªUP»õ®.   

Reason [R]  : The vacuoles may contain wide range of dissolved
molecules such as salts, sugars, pigments and toxic 
wastes. 

Põμn® [R]  : ~sSªÈPÎÀ (ÁõUS÷¯õÀì) E¨¦PÒ, \ºUPøμPÒ, 
{ÓªPÒ ©ØÖ® |a_ PÈÄPÒ ÷£õßÓøÁ Pøμ¢u {ø»°À
EÒÍÚ. 

(A) [A] is true but [R] is false  

 [A] Esø© ©ØÖ® [R] uÁÓõÚøÁ  

(B) Both [A] and [R] are true and [R] is the correct explanation of [A]  

 [A] ©ØÖ® [R] Cμsk® Esø©uõß ©ØÖ® [R] Gß£x [A] Âß \›¯õÚ 
ÂÍUP©õS® 

(C) [A] is false and [R] is true 

 [A] uÁÓõÚøÁ ©ØÖ® [R] Esø© 

(D) Both [A] and [R] are true but [R] is not the correct explanation 
of [A] 

 [A] ©ØÖ® [R] Cμsk® Esø©uõß BÚõÀ [R] Gß£x [A] Âß \›¯õÚ 
ÂÍUP® AÀ» 

(E) Answer not known 
  Âøh öu›¯ÂÀø» 
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10. Assertion [A] : All the living organisms are madeup of one or more
cells. 

TØÖ [A]   :  AøÚzx E°›Ú[PÐ® JßÖ AÀ»x £» ö\ÀPÍõÀ 
BÚøÁ.   

Reason [R]  : All cells of the organisms are produced by the division
of pre-existing cells. 

Põμn® [R]  : J¸ E°›Úzvß AøÚzx ö\ÀPÐ® HØPÚ÷Á EÒÍ 
ö\ÀPÎ¼¸¢x £S¨£øh¢x E¸ÁõQßÓÚ. 

(A) [A] is true but [R] is false  

 [A] Esø© ©ØÖ® [R] uÁÓõÚøÁ 

(B) Both [A] and [R] are true and [R] is the correct explanation of [A]  

 [A] ©ØÖ® [R] Cμsk® Esø©uõß ©ØÖ® [R] Gß£x [A] Âß \›¯õÚ 
ÂÍUP©õS® 

(C) [A] is false but [R] is true 

 [A] uÁÓõÚøÁ ©ØÖ® [R] Esø© 

(D) Both [A] and [R] are true but [R] is not the correct explanation 
of [A] 

 [A] ©ØÖ® [R] Cμsk® Esø©uõß BÚõÀ [R] Gß£x [A] Âß \›¯õÚ 
ÂÍUP® AÀ» 

(E) Answer not known 
  Âøh öu›¯ÂÀø» 

11. Chitin is a component of 
øPiß CÁØÔß J¸ A[P©õS®. 

(A) Bacterial cell wall (B) Fungal cell wall 

 £õUj›¯À ö\À _Áº  §gø\ ö\À _Áº 

(C) Algal cell wall (D) Higher plants cell wall 
 £õ] ö\À _Áº  E¯º uõÁμ[PÎß ö\À _Áº 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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12. Find the incorrect pair: 
uÁÓõÚ ö£õ¸zuzøu PshÔ¯Ä®. 

(A) Bacillus – Rod shape (B) Coccus – Bent rod shape 

 ÷£]»ì – ui ÁiÁ®  PõUPì – ÁøÍ¢u ui ÁiÁ® 

(C) Vibrio – Comma shape (D) Spirillum – Spiral shape 
 Â¤›÷¯õ – Põ©õ ÁiÁ®  ìø£›À»® – _ÇÀ ÁiÁ® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

13. Which of the following is responsible for the mechanical support, protein
synthesis and enzyme transport? 
R÷Ç öPõkUP¨£mkÒÍÁØÔÀ Gx EÖvø¯z u¸Áxhß ¦μua ÷\ºUøP°¾® 
©ØÖ® ö|õvPøÍ PhzxÁv¾® Dk£kQÓx? 

(A) Cell membrane (B) Mitochondria 

 ö\À \ÆÄ  ø©m÷hõPõsi›¯õ 

(C) Dictyosomes (D) Endoplasmic reticulum 
 iUi÷¯õ÷\õ®PÒ  Gs÷hõ¤ÍõìªU Áø» 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

14. Ribosomes were discovered and named by 
øμ÷£õ÷\õ®PÒ CÁμõÀ Psk¤iUP¨£mk ö£¯›h¨£mhx. 

(A) Palade (B) De Dave 

 £õ»õ÷h  i ÷hÆ 

(C) Rhodin (D) Miescher 
 ÷μõiß  ªåº 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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15. F1 particles or oxysomes are present in 
F1 xPÒPÒ AÀ»x BUê÷\õ®PÒ CÁØÔÀ EÒÍÚ. 

(A) Mitochondria (B) Chloroplast 

 ø©m÷hõPõsi›¯õ  £_[PoP® 

(C) Nucleus (D) Lysosome 
 {³UÎ¯ì  ø»÷\õ÷\õ® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

16. Which of the following statements are correct? 

¤ßÁ¸® TØÖPÎÀ GøÁ \›¯õÚx? 

(i) Ribosomes are known as protein factories of the cell. 

 øμ÷£õ÷\õ®Pß ö\À¼ß ¦μuz öuõÈØ\õø»PÒ GÚ AøÇUP¨£kQßÓÚ. 

(ii) Proteins synthesized by cytoplasmic ribosomes are used within the
cell. 

 ø\m÷hõ¤ÍõìªU øμ÷£õ÷\õ®PÍõÀ EØ£zv ö\´¯¨£mh ¦μu[PÒ A÷u 
ö\ÀPÐUSÒ £¯ß£kzu¨£kQßÓÚ. 

(iii) Proteins synthesized by ribosomes stud on the rough Endoplasmic
Reticulum are exported out of the cell as enzymes or hormones. 

 _μ_μ¨£õÚ Gs÷hõ¤ÍõìªU öμmiS»zvÀ £vUP¨£mh 
øμ÷£õ÷\õ®PÍõÀ EØ£zv ö\´¯¨£mh ¦μu[PÒ, ö|õvPÒ ©ØÖ® 
íõº÷©õßPÍõP ©ØÓ ö\ÀPÐUS HØÖ©v ö\´¯¨£kQßÓÚ. 

(A) (i) and (ii) (B) (i) and (iii) 

 (i) ©ØÖ® (ii)  (i) ©ØÖ® (iii) 

(C) (ii) and (iii) (D) (i), (ii) and (iii) 
 (ii) ©ØÖ® (iii)  (i), (ii) ©ØÖ® (iii) 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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17. The book on the “Origin of Life” was written by 
“E°›PÎß ÷uõØÓ®” GßÓ ¦zuPzøu GÊv¯Áº 

(A) S.W. Fox (B) Charles Darwin 

 Gì.h¤Ò³.L£õUì  \õº»ì hõºÂß 

(C) H.J. Muller (D) L.P. Pasteur 
 Ga.÷á.•À»º  GÀ.¤.£õìhº 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

18. Modern synthetic theory of organic evolution proposed by 
P›© £›nõ© ÁÍºa]°ß |ÃÚ ö\¯ØøPU ÷Põm£õk •øÓø¯ 
E¸ÁõUQ¯ÁºPÒ. 

(A) Lamarck and Darwin (B) Lamarck and Devries 

 »õ©õºU ©ØÖ® hõºÂß  »õ©õºU ©ØÖ® iÆŸì 

(C) Darwin and Devries (D) None of the above 
 hõºÂß ©ØÖ® iÆŸì  ÷©÷» GxÄ® CÀø» 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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19. Which of the following was the contribution of Hugo de vries? 
RÌUPshÁØÔÀ Gx î³÷Põ i Â›êß £[PÎ¨¦? 

(A) Theory of mutation 
 viº ©õØÓz ÷uºÄU ÷Põm£õk 

(B) Theory of natural selection  
 C¯ØøPz ÷uºÄU ÷Põm£õk 

(C) Theory of inheritance of acquired characters 
 •¯ßÖ ö£ØÓ £s¦ ©μ¦¨ £s£õSuÀ ÷Põm£õk 

(D) Germplasm theory 
 ÁÍºP¸ ¤Íõ\U ÷Põm£õk 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

20. A Gene showing codominance  has 
Cøn K[Sz ußø© öPõsh ©μ£q 

(A) Alleles tightly linked on the same chromosome 
 J÷μ S÷μõ÷©õ÷\õªÀ Aø©¢u CÖUP©õP¨ ¤øn¢u AÀ½ÀPøÍ 

öPõshx 

(B) Alleles that are recessive to each other  
 JßÖUöPõßÖ Jk[S ußø© öPõsh AÀ½ÀPøÍ öPõshx 

(C) Both alleles independently expressed to the heterozygote 
 P»¨¦°›°À C¸ AÀ½ÀPÐ® uÛzuÛ¯õP öÁÎ¨£k® 

(D) One allele dominant on the other  
 J¸ AÀ½À ©ØöÓõßÖUS K[Sz ußø© öPõshx 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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21. Match the following: 
ö£õ¸zxP:  
 Types of fossil   Associate feature 
 E°º ¦øu £iÁ ÁøP   öuõhº¦øh¯ £s¦ 
(a) Fossil   1. Carbonized Plant Material  
 E°º ¦øu £iÁ®    P›÷¯›¯ uõÁμ Ga\® 
(b) Sub fossils   2. Pollen grains 
 RÌ E°º ¦øu £iÁ®    ©Pμ¢u yÒPÒ 
(c) Micro fossils   3. Seeds 
 ]Ö E°º ¦øu £iÁ®   ÂøuPÒ 
(d) Mega fossils   4. Compressions  
 ö£¸ E°º ¦øu £iÁ®  _¸UP[PÒ  

 (a) (b) (c) (d) 
(A) 4 1 2 3 
(B) 2 3 4 1  
(C) 3 4 1 2 
(D) 4 3 1 2  
(E) Answer not known 
 Âøh öu›¯ÂÀø» 

22. Which among the following fossil form does not contains any chemical
substance in it? 
¤ßÁ¸® G¢u E°º ¦øu £iÁ ÁøP¯õÚx. GÆÂu©õÚ ÷Áv¨ö£õ¸mPøÍ²® 
ußÝÒ öPõsiμõx? 

(A) Impressions (B) Compressions 

 C®¨μåßì  P®£μåßì 

(C) Petrifactions (D) Casts 
 ö£m›÷£Uåßì  Põìmì  

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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23. Lyginopteris is a 
ø»ãÚõ¨öh›ì Gß£x J¸ ÁøP¯õÚ 

(A) Stem genera (B) Root genera 

 usk uõÁμ®  ÷ÁºzuõÁμ® 

(C) Leaf genera (D) Seed genera 
 Cø» uõÁμ®  Âøu uõÁμ® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

24. In fossilization preservation takes place in —————— forms. 
uõÁμ¨£i©[PÒ GzuøÚ ÁøPPÎÀ £õxPõUP¨£kQÓx? 

(A) 3 (B) 6 

(C) 2 (D) 4 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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25. Match the following Gymnosperm groups with their respective period of
existence. 
RÌPõq® ã®÷Úõìö£º® uõÁμ öuõSvPøÍ AøÁPÒ ÁõÌ¢u ¦Â°¯À
Põ»z÷uõk J¨¤kP.  
(a) Pteridospermales  1. Triassic Period 
 öh›÷hõìö£º÷©Àì  iøμ¯õêU Põ»® 
(b) Pentoxylales  2. Lower Cretaceous 
 ö£ßhõUøé÷»Àì   RÌ Qøμ÷hê¯ì 
(c) Bennettitales  3. Lower Carboniferous 
 ö£ßÛøhm÷hÀì   RÌ Põº÷£õÛö£μì 
(d) Cordaitales  4. Lower Jurassic 
 Põºøhm÷hÀì   RÌ ãμõêU 

 (a) (b) (c) (d) 
(A) 3 4 2 1 
(B) 4 2 3 1  
(C) 2 3 1 4 
(D) 1 3 4 2  
(E) Answer not known 
 Âøh öu›¯ÂÀø» 

26. Estimate the geological period of Pteridospermales which is
predominantly distributed in the earth? 
Âøu¨¤μoPÒ C¨¦Â°ß «x AvP©õP ÁõÌ¢u ¦Â°¯Ø Põ»zøuU 
PnUQkP. 

(A) Protozoic (B) Palaeozoic 

 ¦÷μõm÷hõ÷éõ°U  ÷£¼÷¯õ÷éõ°U 

(C) Mesozoic (D) Coenozoic 
 «÷éõ÷éõ°U  ë÷Úõ÷éõ°U  

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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27. Approximate age of Cambrian period is 
÷P®¤›¯ß Põ»Pmhzvß ÷uõμõ¯©õÚ Á¯x 

(A) 395 Million years (B) 570 Million years 

 395 ªÀ¼¯ß BskPÒ  570 ªÀ¼¯ß BskPÒ 

(C) 500 Million years (D) 280 Million years 
 500 ªÀ¼¯ß BskPÒ  280 ªÀ¼¯ß BskPÒ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

28. In which among the following geological period early gymnosperms were
believed to be originated? 
¤ßÁ¸® G¢u Põ»PmhzvÀ Âøu‰hõzuõÁμ[PÒ •uß•u¼À ÷uõßÔ¯uõP 
|®£¨£kQßÓx? 

(A) Silurian (B) Lower Carboniferous 

 ]¾›¯ß  RÌ Põº÷£õÛö£μì 

(C) Upper Permian (D) Lower Cretaceous 
 ÷©À ö£ºª¯ß  RÌ S›÷h]¯ì 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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29. Arrange the following as per age from old to young. 

1. Palaeozoic 

2. Mesozoic 

3. Proterozoic 

4. Cenozoic 
¤ßÁ¸ÁÚÁØøÓ Põ»zøu Ai¨£øh¯õPU öPõsk •vºÂ¼¸¢x CÍø© 
Á›ø\°À Á›ø\¨£kzxP. 

1. ÷£¼÷¯õ ÷\õ°U 

2. «÷\õ ÷\õ°U 

3. ¦÷μõmh÷μõ÷\õ°U 

4. ÷\÷Úõ ÷\õ°U 

(A) 1, 4, 3, 2 (B) 2, 4, 1, 3 
(C) 4, 3, 2, 1 (D) 3, 1, 2, 4 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

30. Conifer wood can be differentiated from the other Gymnospermous wood
by the presence of 
F]°ø» ©μUPmøhPøÍ ©ØÓ â®÷Úõìö£º©ìPÎß ©μUPmøhPÎ¼¸¢x 
÷ÁÖ£kzu EuÄÁx 

(A) Medullary rays (B) Bordered pits 

 EÒÏmk PvºPÒ  £õºhmk ¤mì 

(C) Long tracheids (D) Resin ducts 
 }Í©õÚ iμURkPÒ  öμêß SÇõ´PÒ  

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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31. Identify the gymnosperm whose seem lacks Pericycle. 
_ØÖv_ CÀ»õu usiøÚ öPõsh Âøu‰hõzuõÁμzøu Aøh¯õÍ® Põs. 

(A) Ephedra (B) Ginkgo 

 GL¤mμõ  ã[÷Põ 

(C) Gnetum (D) Thuja 
 }mh®  xáõ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

32. Half bordered pits are commonly present in 
Aøμ GÀø»SÈ AvPÍÂÀ Põn¨£kÁx 

(A) Cycadales (B) Coniferales 

 ø\UP÷hÀì  ÷PõÛö£÷μÀì 

(C) Gnetales (D) Ginkgoales 
 }m÷hÀì  ã[÷Põ÷¯Àì 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

33. Which among the following gymnosperm seen has calcium oxalate 
crystals frequently? 
¤ßÁ¸® Âøu‰hõzuõÁμ[PÎÀ GuÝøh¯ usiÀ PõÀ]¯® BUé÷»m 
£iP[PÒ ö£¸®£õ¾® Põn¨£kQßÓÚ? 

(A) Thuja (B) Cycas 

 xáõ  ø\Pì 

(C) Pinus (D) Gnetum 
 ø£Úì  }mh® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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34. Which among the following gymnosperm’s wood lacks torus? 
¤ßÁ¸® G¢u Âøu‰hõzuõÁμzvß ø\»zvÀ ÷©øh Põn¨£hõx? 

(A) Gnetum (B) Ephedra 

 }mh®  GL¤mμõ 

(C) Ginkgo (D) Pinus 
 ã[÷Põ  ø£Úì 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

35. In Gymnosperm wood, axial system contains mostly 
Âøu‰hõzuõÁμ[PÎß ø\»® öuõS¨£õÚx ö£¸®£õ¾® CuøÚ
öPõskÒÍx? 

(A) Vessels only  

 SÇõ´ ö\ÀPÒ ©mk®   

(B) Tracheids and Vessels  
 Phzx® ö\ÀPÒ ©ØÖ® SÇõ´ ö\ÀPÒ 

(C) Tracheids only  
 Phzx® ö\ÀPÒ ©mk®   

(D) Tracheids and Fibres  
 Phzx® ö\ÀPÒ ©ØÖ® CøÇ ö\ÀPÒ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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36. Which among the following Gymnosperm is associated with “Sulfur
Shower”? 
¤ßÁ¸ÁÚÁØÖÒ G¢u ã®÷Úõìö£º® uõÁμz÷uõk “\À£º ©øÇ” GÝ® {PÌÄ 
öuõhº¦øh¯x? 

(A) Cycas (B) Gnetum 

 ø\Pì  }mh® 

(C) Pinus (D) Ginkgo 
 ø£Úì  ã[÷Põ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

37. The ancestor of angiosperm evolved in devonian period and flourished in
the carboniferous period are 
§US® uõÁμ[PÎß •ß÷Úõi°À u÷ÁõÛ¯ß Põ»zvÀ C¸¢x 
Põº÷£õÛö£μì Põ»zvÀ uÈzx K[SuÀ G¢u öuõSv uõÁμ® BS® 

(A) Seed ferns (B) Psilophython 

 Âøu ö£Óo  ø\÷»õø£zuõß 

(C) Rhynia type plants (D) Progymnosperms 
 øμÛ¯õ ÁøP uõÁμ®  •ß÷Úõi â®÷Úõìö£º®  

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

38. In which part of the Gymnosperm represents gametophytic generation? 
÷Pªm÷hõø£m G¢u {ø»°À â®÷Úõìö£º®PÎÀ C¸UQÓx? 

(A) Endosperm (B) Seed coat 

 P¸ Fs  Âøu EøÓ 

(C) Young embryo (D) Mature embryo 
 ÁÍºa]¯ØÓ P¸  ÁÍºa]²ØÓ P¸ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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39. The unique character found in Gnetum and if may be considered highly 
evolved Gymnosperm. 
}mh® uõÁμzvÀ ©mk® Põn¨£k® C¨£s£õÀ Cx â®÷Úõìö£º®PÎÀ J¸ 
uØPõ»z uõÁμ©õPU P¸u¨£kQÓx. 

(A) Reticulate venation in leaves 
 Cø»PÎÀ Áø»¨¤ßÚÀ |μ®£ø©Ä 

(B) Scandent climbing habit  
 ÁøÍ²® öPõi÷£õßÓ ushø©¨¦ 

(C) Xylem vessels in vascular bundles 
 øá»® öÁìéÀ EÒÍ ÁõìS»õº öuõS¨¦ 

(D) Ovules bearing on cupules 
 KÄ³ÀPÒ Qsn® ÷£õßÓ S³¤ÀPÎß ÷©À ÷uõßÖÁx  

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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40. Match the followings with identify the Pinus plants developing features 
in respective parts: 
RÌPõq® ø£Úì uõÁμzvß £õP[PøÍ AÁØ÷Óõk öuõhº¦øh¯ ö£õ¸zu©õÚ
£s¦P÷Íõk ö£õ¸zuÄ®.  
(a) Long shorts 1. Multi-Cotyledon 
 }ÍU QøÍPÒ  £ßø© Âøu°ø»PÒ 
(b) Dwarf shorts 2. Ovule 
 SmøhU QøÍPÒ  `À 
(c) Ovuliferous scale 3. Male cone  
 JÄÂö£μì ö\vÀ  Bs T®¦ 
(d) Seeds 4. Female cone  
 ÂøuPÒ  ö£s T®¦  

 (a) (b) (c) (d) 
(A) 3 4 1 2 
(B) 1 4 3 2  
(C) 4 1 2 3 
(D) 4 3 2 1  
(E) Answer not known 
 Âøh öu›¯ÂÀø» 



   268 – Botany 
  [Turn over 

23

41. The classification of Algae in various classes is based on 
BÀPõUPÎß ÁøP¨£õhõÚx Cuß Ai¨£øh°À BÚx 

(A) Thallus nature and reproduction 
 Eh»ø©¨¦ ©ØÖ® CÚ¨ö£¸UP® 

(B) Habit and Thallus organisation  
 ÁÍ›¯À¦ ©ØÖ® Eh»zvß öuõS¨¦ 

(C) Mode of reproduction and Phyllogeny 
 CÚ¨ö£¸UP ÁøP ©ØÖ® £›nõ© ÁøP 

(D) Type of Pigments and Nature of store food 
 {ÓªPÎß ÁøP ©ØÖ® C¯ØøP¯õP Aø©¢u ÷\ª¨¦ ö£õ¸mPÒ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

42. Phycocyanin Pigments posses in 
CÁØÔÀ ø£÷Põé¯Ûß {ÓªPøÍ öPõskÒÍøÁ 

(A) Blue green algae (B) Green algae 

 }» £_® £õ]PÒ  £_® £õ]PÒ 

(C) Brown algae (D) Red algae 
 £Ê¨¦ £õ]PÒ  ]Á¨¦ £õ]PÒ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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43. Match the following: 
ö£õ¸zxP : 
(a) Chlamydomonas 1. Spiral and ribbon shaped chloroplasts  
 QÍõª÷hõ÷©õÚõì  _¸Ò ©ØÖ® CøÇUP¨£mh ÁiÁ    

  £_[PoP[PÒ 
(b) Chara 2. Cup-shaped chloroplasts 
 Põμõ   ÷Põ¨ø£ ÁiÁ £_[PoP[PÒ 
(c) Oedogonium 3. Discoid shaped chloroplasts 
 D÷hõ÷PõÛ¯®  umk ÁiÁ £_[PoP[PÒ 
(d) Spirogyra 4. Reticulate shaped chloroplast 
 ìø£÷μõøPμõ  Áø»¨¤ßÚÀ ÁiÁ £_[PoP[PÒ 

 (a) (b) (c) (d) 
(A) 2 1 4 3 
(B) 3 4 1 2  
(C) 2 3 4 1 
(D) 4  2 1 3 
(E) Answer not known 
 Âøh öu›¯ÂÀø» 

44. In Dictyota sexual reproduction process is 
iUi÷¯õmhõÂÀ £õÀ CÚ¨ö£¸UP® CÆÁõÖ |øhö£ÖQÓx 

(A) Isogamous (B) Anisogamous 

 Iì÷éõ÷P©ì  AøÚ÷éõ÷P©ì 

(C) Oogamous (D) None of the above 
 F÷P©ì  CÁØÔÀ GxÄ® CÀø» 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 



   268 – Botany 
  [Turn over 

25

45. Sexual reproduction in Caulerpa is 
Põ»º¨£õÂÀ £õÀ CÚ¨ö£¸UP® BÚx 

(A) Anisogamous (B) Isogamous 

 AøÚ÷éõ÷P©ì  I÷éõ÷P©ì 

(C) Heterogamous (D) Oogamous 
 öími÷μõ÷P©ì  F÷P©ì 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

46. Vegetative reproduction is mostly common in 
CÆÁS¨¤À Á¸® CÚ[PÎÀ EhÀ CÚ¨ö£¸UP® AvP AÍÂÀ 
Põn•iQÓx 

(A) Chlorophyceae (B) Phaeophyceae 

 S÷Íõ÷μõø£]  ¥÷¯õø£] 

(C) Cyanophyceae (D) Rhodophyceae 
 ø\¯÷Úõø£]  ÷μõ÷hõø£] 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

47. The sexual reproduction in Coleochaete 
÷Põ¼÷¯õRm÷hÂß £õÀ CÚ¨ö£¸UP©õÚx 

(A) Isogamous (B) Anisogamous 

 I÷éõ÷P©ì  AøÚ÷éõ÷P©ì 

(C) Oogamous (D) All of the above 
 F÷P©ì  CøÁ AøÚzx® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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48. During unfavourable condition the mycelium produces thick rounded
structures is called 
\õuP©ØÓ `Ì{ø»°À ø©]¼¯©õÚx uizu E¸øÍ ÁiÁ Aø©¨¦ E¸ÁõÁx 
CÆÁõÖ AøÇUP¨£kQÓx 

(A) Oidia (B) Sclerotium 

 B´i¯õ  éQÎ÷μõ]¯® 

(C) Rhizomorph (D) Budding 
 øμ÷\õ©õº¨  A¸®¦uÀ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

49. —————— the father of modern phycology of India. 
C¢v¯õÂß |ÃÚ ø£UPõ»â°ß u¢øu GßÖ AøÇUP¨£k£Áº ¯õº? 

(A) Linnaeus (B) Link 

 ¼ß÷Ú¯ì  ¼[U 

(C) Rich (D) Iyengar 
 ›a  I¯[Põº 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

50. The disease caused by Alubgo is 
AÀ¦÷Põ §gø\ HØ£kzx® ÷|õ´ 

(A) White rust (B) Red rot 

 öÁÒøÍ x¸  ]Á¨¦ AÊPÀ 

(C) Smut (D) Tikka 
 ì©m  iUPõ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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51. The number of spores produced by Puccinia in its life cycle is 
£U]Û¯õÂß ÁõÌUøPa _ÇØ]°À E¸ÁõUP¨£k® ì÷£õºPÎß GsoUøP 

(A) 3 (B) 4 

(C) 5 (D) 6 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

52. The main stored food material of fungi is in the form of 
§gø\°ß •ußø© ÷\ª¨¦ ö£õ¸Ò CÆÁiÂÀ EÒÍx 

(A) Glycogen (B) Starch 

 QøÍU÷Põáß  ìhõºa 

(C) Oil (D) Fats 
 Gsön´  öPõÊ¨¦PÒ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

53. Heterothalism was coined by 
öím›÷¯õuõ¼\® GßÖ ö£¯›mhÁº 

(A) A.F. Blakeslee  

 A.F. ¤ÍõUê¼   

(B) Harsen and Smith 
 íº\ß ©ØÖ® ìªz 

(C) G. Pontecorvo and J.A. Ropen  
 G. ö£õßiPõº÷Áõ ©ØÖ® J.A. ¹£ß   

(D) G.W. Martin 

 G.W. ©õºiß 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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54. Fertilization in Dictyota is 
iUi÷¯õhõÂß P¸ÄÖu»õÚx 

(A) Internal (B) External 

 Em¦Ó®  öÁÎ¨¦Ó® 

(C) Both (D) None 
 Cμsi¾®  GxÄ® CÀø» 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

55. Match the following: 
ö£õ¸zxP  :   
(a) Aspergillus Niger  1. Itaconic Acid  
 Aìö£ºâÀ»ì ø|Pº  Cmh÷PõÛU Aª»® 
(b) Rhizopus Oryzae  2. Gluconic Acid 
 øμ÷\õ£ì Jøμ÷\   SÐ÷PõÛU Aª»® 
(c) Rhizopus Arrhizus  3. Lactic Acid 
 øμ÷\õ£ì Aº›\ì   »õUiU Aª»® 
(d) Aspergillus Terreus 4. Fumaric Acid 
 Bì£ºQÀ»ì öhº›¯ì  ¤²©õ›U Aª»® 

 (a) (b) (c) (d) 
(A) 2 3 4 1 
(B) 2 4 1 3  
(C) 3 1 4 2 
(D) 1 4 3 2  
(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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56. Which one of the following lichens is called as dog lichen? 
R÷Ç öPõkUP¨£mkÒÍ ø»UPßPÎÀ JßÖ |õ´ ø»UPß GßÓøÇUP¨£k®? 

(A) Peltigera Canina (B) Xanthoria Parientina 

 ö£Àiöáμõ PÛÚõ  \õ¢÷uõ›¯õ £õ›¯ßiÚõ 

(C) Cetraria Islandica (D) Lobaria Pulmonaria 
 ö\m÷μ›¯õ I»õsiPõ  ÷»õ÷£›¯õ £À÷©õ÷Ú›¯õ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

57. A lichen along with photosynthetic partners is called 
ø»UPÛÀ Aø©¯¨ö£ØÖÒÍ JÎa÷\ºUøP TmhõÎ GßÖ AøÇUP¨£k£øÁ 

(A) Mycobiont (B) Photobiont 

 ø©U÷Põ£¯õßm  ø£U÷Põ£¯õßm 

(C) Chytrids (D) Hyphochytrids 
 øPm›mì  øí¨÷£õøPm›mì 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

58. Chlorellin is extracted from chlorella is a —————— products. 
S÷ÍõöμÀ»õÂ¼¸¢x ö£Ó¨£k® S÷ÍõöμÀ¼ß _________ ÁøPø¯a \õº¢ux. 

(A) Antibiotics (B) Pesticide 

 Bsi£¯õmiU  ö£ìiø\k 

(C) Larvicide (D) Vermicide 
 »õºÂø\k  öÁºªø\k 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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59. Large amount of iodine is obtained from which type of algal groups 
AvP AÍÄ A÷¯õiß RÌPsh G¢u BÀPõUPÎÀ GkUP¨£kQÓx 

(A) Brown algae (B) Red algae 

 £Ê¨¦ {Ó£õ]PÒ  ]Á¨¦ £õ]PÒ 

(C) Green algae (D) Blue green algae 
 £aø\ £õ]PÒ  }» £_® £õ]PÒ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

60. High protein substance is found in 
CvÀ ö£¸©ÍÄ ¦μu® EÒÍx 

(A) Chlamydomonas (B) Spirulina 

 QÍõª÷hõ÷©õÚõì  ìø£¸¼Úõ 

(C) Volvox (D) Chlorella 
 ÁõÀÁõUì  S÷ÍõöμÀ»õ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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61. The following statements are correct about C3 cycle 

C3  _ÇØ]÷¯õk öuõhº¦øh¯ÁØøÓ \›¯õÚ TØøÓ ÷uºÄ ö\´P 

(i) Co2 is accepted by RUBP. 

 RUBP Põº£ß øh BUø\øh HØS® ö£õ¸Ò BS®. 

(ii) 3-phosphoglyceric acid is the first stable product of this cycle. 
 Ca_ÇØ]°À QøhUS® •uÀ uÍ¨ ö£õ¸Ò 3&£õì÷£õQÎ\›U Aª»®. 

(iii) Co2 fixation takes place in Mesophyll cells and bundle sheath cells. 

 Co2 {ø»{ÖzxuÀ CøÁ Cøhzv_ ©ØÖ® öuõS¨¦ EøÓPÎÀ 
Põn¨£k® 

(iv) During night malic acid is synthesized utilizing Co2 which then 
accumulator in the vacuole. 

 CμÂß÷£õx Co2 øÁ £¯ß£kzv ©õ¼U Aª»P® EØ£zv ö\´¯¨£kuÀ. 

(A) (i) only (B) (i) and (ii) only 

 (i) ©mk®  (i)  ©ØÖ® (ii) ©mk® 

(C) (ii) and (iii) only (D) (iii) and (iv) only 
 (ii)  ©ØÖ® (iii) ©mk®  (iii)  ©ØÖ® (iv) ©mk® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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62. Photorespiration takes place in 
JÎa_Áõ\® CvÀ {PÊ® 

(A) Peroxisome, Endoplasmic Reticulum, Ribosomes 
 ö£μõU]÷\õ®, Gs÷hõ¤Íõ\Áø», øμ÷£õ÷\õ®PÒ 

(B) Peroxisome, Chloroplast, Mitochondrio  
 ö£μõU]÷\õ®, £_[PoP®, ø©m÷hõPõsi›¯õ 

(C) Ribosomes, Chloroplast, Mitochondrio 
 øμ÷£õ÷\õ®PÒ, £_[PoP®, ø©m÷hõPõsi›¯õ 

(D) Chloroplast, Mitochondria, Endoplasmic Reticulum 
 £_[PoP®, ø©m÷hõPõsi›¯õ, Gs÷hõ¤Íõ\Áø» 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

63. The study of energy transformation in living organism is called as 
E°›Ú[PÎÀ \Uv°ß ©õØÓzøu CÆÁõÖ AøÇUP»õ® 

(A) Bioenergetics (B) Thermodynamics 

 E°º \Uv°¯À  öÁ¨£ ÁøP°¯À 

(C) Chemical equilibrium (D) Flow of energy 
 ÷Áv \©{ø»  \Uv £›©õØÓ® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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64. The part(s) of root involved in absorption of water in higher plants is
(are) 
E¯º uõÁμ[PÎÀ }øμ EÔg\ ÷Á›ß G¢u £õP®(PÒ) Dk£kzu¨£kQßÓÚ 

(A) Root tip 
 ÷Áº ~Û 

(B) Root hair zone  
 ÷Áº yÂ ©sh»® 

(C) Root cap and meristematic region 
 ÷Áº ‰i  ©ØÖ® BUSzv_ £Sv 

(D) Zone of elongation 
 }m]¨ £Sv 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

65. Callose is made up of 
Põ÷»õì GuÚõÀ BÚx 

(A) Special glucose polymer (B) Carbohydrate 

 ]Ó¨¦ SÐU÷Põì £õ¼©º  Põº÷£õøím÷μm 

(C) Complex protein (D) Derived protein 
 Tmk ¦μu®  u¸ÂUP¨£mh ¦μu® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

66. An example for a Scleroprotein 
]¼÷μõ ¦μuvß GkzxUPõmk 

(A) Albumin (B) Hormone 

 BÀ¦ªß  íõº÷©õß 

(C) Keratin (D) Haemoglobin 
 ÷Pμiß  î÷©õS÷Íõ¤ß 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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67. Which of the following statements are true for oxidative
phosphorylation? 

BUëPμn £õì£ŸPμnzvØS ö£õ¸zu©õÚ öuõhºPøÍ ÷uºÄ ö\´P? 

(i) It is dependent on light. 
 CøÁ JÎø¯a \õº¢xÒÍx. 

(ii) It takes place during aerobic respiration on Cristae in Mitochondria.
 CøÁ ø©m÷hõ Põsi›¯õÂÀ EÒÍ Q›ìhõÂÀ PõØÖÁÈ _Áõ]zu¼ß

÷£õx {PÊ®. 

(iii) It occurs during terminal oxidation of reduced coenzymes generated
in glycolysis and Kreb’s cycle with molecular oxygen. 

 Qμ¨ _ÇØ]°À ‰»UTÖ BU]áß  ©ØÖ® QøÍUPõ¼êêß ÷£õx
JkUP¨£mh xøn ö|õvPÒ CÖv BU]á÷ÚØÓ ÂøÚPÐUS Dk£kzu 
£kzu¼ß ÷£õx {PÊ®. 

(iv) Ultimate source of energy is light. 
 BØÓ¼ß ‰» Buõμ® `›¯ JÎ BS®. 

(A) (i) only (B) (i) and (ii) only 

 (i) ©mk®  (i)  ©ØÖ® (ii) ©mk® 

(C) (ii) and (iii) only (D) (i) and (iv) only 
 (ii)  ©ØÖ® (iii) ©mk®  (i)  ©ØÖ® (iv) ©mk® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

68. In aerobic respiration, the respiratory quotient is 
PõØÖÒÍ _Áõ]zu¼À _Áõ\ DÄ Gs GÚ¨£kÁx 

(A) 0 (B) 1 

(C) 1<  (D) ∝  

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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69. Peptide bond is present in 
ö£¨øhm ¤øn¨¦ CvÀ Põn¨£k® 

(A) Proteins and Nucleic acids 
 ¦μu[PÒ ©ØÖ® {³UÎU Aª»[PÒ 

(B) Nucleic acids and Carbohydrates  
 {³UÎU Aª»[PÒ ©ØÖ® Põº÷£õøím÷μmkPÒ 

(C) Carbohydrates and Oil 
 Põº÷£õøím÷μmkPÒ ©ØÖ® Gsön´ 

(D) Lipids and Wax 
 ¼¤mPÒ ©ØÖ® ö©ÊS 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

70. The maximum energy of fat 
öPõÊ¨¦ GÆÁÍÄ BØÓø»U öPõskÒÍx 

(A) 3.9 k.cal of energy per gm 

 3.9 Q.P÷»õ› BØÓÀ/Qμõ® 

(B) 9.3 k.cal of energy per gm  

 9.3 Q.P÷»õ› BØÓÀ/Qμõ® 

(C) 3.6 k.cal of energy per gm 

 3.6 Q.P÷»õ› BØÓÀ/Qμõ® 

(D) 9.6 k.cal of energy per gm 

 9.6 Q.P÷»õ› BØÓÀ/Qμõ® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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71. Which of the following lipids present in Chloroplast? 
RÌPsh G¢u ¼¨¤k ÁøP¯õÚx S÷Íõ÷μõ¤ÍõìmiÀ (£_[PoPzuÀ) 
Põn¨£kQÓx? 

(A) Galactolipids (B) Sphingolipids 

 ÷P»Um÷hõ¼¤k  ì¤ß÷Põ¼¤k 

(C) Glycolipid (D) Ceramide 
 QøÍ÷Põ¼¤k  ö\μõø©k 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

72. Most of the muscle nucleotide is represented by 
|® uø\°À AvP AÍÄ G¢u G¢u {³UÎ÷¯õøhk Põn¨£kQÓx 

(A) ATP and ADP (B) UTP and GTP 

 ATP ©ØÖ® ADP  UTP ©ØÖ® GTP 

(C) AMP and ATP (D) ADP and TCA 
 AMP ©ØÖ® ATP  ADP ©ØÖ® TCA  

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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73. During nitrogen metabolism, conversion of nitrate into ammonia is a  
ø|mμáß ÁÍº]øu ©õØÓzvß ÷£õx ø|m÷μmkUPÒ A®÷©õÛ¯õÁõP 
©õØÓ¨£k® ÂøÚ 

(A) oxidative process  

 BU]á÷ÚØÓ ÂøÚ  

(B) reductive process 
 JkUS® ÂøÚ 

(C) deamination process  
 Aª÷Úõ Aª»[PÒ }US® ÂøÚ 

(D) amination process 
 Aª÷Úõ Aª»[PÒ ÷\ºUS® ÂøÚ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

74. Leg haemoglobin is 
ö»Uî÷©õS÷Íõ¤ß ¯õöuÛÀ 

(A) blood secreted in legumes 
 ö»S®PÎÀ _μUS® Cμzu® 

(B) haemoglobin in plant  
 uõÁμ[PÎÀ EÒÍ ï÷©õS÷Íõ¤ß 

(C) pink pigment produced by legumes 
 ö»S®PÎÀ Põn¨£k® CÍg]P¨¦ {Óª 

(D) red pigment produced by legumes 
 ö»S®PÎÀ Põn¨£k® ]P¨¦ {Óª 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 



Botany – 268  
   
 

38

75. An example of HΔ−  (–ve enthalpy) 
HΔ−  enthalpy (GßuõÀ¤) Euõμn® 

(A) combustion of glucose to Co2 + H2O 

 G›³mh¨£mh SÐU÷Põì → Co2 + H2O 

(B) melting of ice into liquid water  
 E¸S® £ÛUPmi°¼¸¢x SÎº uspº 

(C) vaporization into water vapours 
 BÂ¯õUSuÀ ‰»® }μõÂ 

(D) condensation of water 
 }º SÎºÂzuÀ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

76. The process of energy transformation in living organisms is called 
E°ºPÐUQøh°À BØÓÀ ©õÖuø» ¤ßÁ¸©õÖ TÓ»õ® 

(A) Thermodynamics (B) Biological energy transfer 

 öÁ¨£ C¯UPÂ¯À  E°º BØÓÀ ©õÖuÀ 

(C) Thermochemistry (D) Bioenergetics 
 öÁ¨£ ÷Áv°¯À  E°ÓõØÓÂ¯À 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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77. Vitamin B6 is cofactor of the enzyme 
øÁmªß B6 G¢u ö|õv°ß xønU Põμo 

(A) ∝ - amylase (B) Aminotransferase 

 ∝ - Aø©÷»ì  Aª÷Úõiμõßìö£÷μì 

(C) Urease (D) Chlorophyllase 
 ³›÷¯ì  S÷Íõ÷μõ¤À÷»ì 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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78. Which of the following physiological effect(s) is/are exhibited by
gibberellins? 
R÷Ç öPõkUP¨£mhÁØÖÒ GøÁ â¨£öμÀ¼ß ö\¯¼¯À ÂøÍÄPÒ 

(i) Stem elongation 
 usk }m]¯øhuÀ 

(ii) Fruit ripening 
 PÛ PÛ¯õuÀ 

(iii) Seed germination 
 Âøu •øÍzuÀ 

(iv) Parthenocarpy 
 P¸ÄÓõ PÛ¯õuÀ 

(A) (i), (ii) and (iii) are correct but (iv) is wrong 

 (i), (ii) ©ØÖ® (iii) \› BÚõÀ (iv) uÁÖ 

(B) (i), (iii) and (iv) are correct but (ii) is wrong   

 (i), (iii) ©ØÖ® (iv) \› BÚõÀ (ii) uÁÖ 

(C) (ii), (iii) and (iv) are correct but (i) is wrong 

 (ii), (iii) ©ØÖ® (iv) \› BÚõÀ (i) uÁÖ 

(D) (i), (ii), (iii) and (iv) are correct 

 (i), (ii), (iii) ©ØÖ® (iv) \› 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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79. One of the growth regulator is known as antigibberellin 
ÁÍºa] ^μõUQPÎÀ JßÖ, Bßiâ¨£öμÀ¼ß BS® 

(A) Cytokinin (B) Zeatin 

 ø\m÷hõøPÛß  ]¯õmiß 

(C) Abscisic acid (D) Ethylene 
 A¨]]U Aª»®  Gzv¼ß 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

80. Match the following : 
¤ßÁ¸ÁÚÁØøÓ ö£õ¸zxP : 

 Organic Chemical  Types of plant growth substance 
 P›© ÷Áv¨ö£õ¸Ò    uõÁμ ÁÍº FUQ ö£õ¸Ò ÁøP 
(a) Indole-3-acetic acid   1. Cytokinin   
 Cs÷hõÀ&3&A]iU Aª»®   ø\m÷hõøPÛß 
(b) Zeatin   2. Gibberellin 
 â¯õmiß    â£μÀ¼ß 
(c) Gibberellic acid   3. Auxin 
 â£μÀ¼U Aª»®    BUêß 

 (a) (b) (c)  

(A)  2  3  1  
(B)  3  1  2   
(C)  1  3  2  
(D)  3  2  1 
(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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81. Two or more different communities meet and integrate is called 
Cμsk AÀ»x AuØS® ÷©Ø£mh Akzukzx Aø©¢xÒÍ ÷ÁÖ£mh 
\•uõ¯[PøÍ CμshÓ P»US® {PÌa] 

(A) Nudation (B) Ecotone 

 ~÷h\ß (öÁÖø©¯õuÀ)  D÷Põ÷hõß (|k{ø»£Sv) 

(C) Edge effect (D) Niche 
 ÂÎ®¦ ÂøÍÄ  {a (JxUQh®) 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

82. Due to over crowding or higher population density in the habited, a
individual (or) group of populations move permanent outward (one way)
to the new areas is known as 
uß ÁõÌÂhzv¼¸¢x ©ØöÓõ¸ ¦v¯ ÁõÌÂhzvØS J¸ SÔ¨¤mh E°›P÷Íõ 
({μ¢uμ©õP) AÀ»x £» öuõS¨¦ E°›Ú[P÷Íõ, AvP GsoUøP (A) 
Ahºzv¯õÚ E°›Ú C¸¨¦ Põμn©õP Ch® ö£¯º¢x ö\ÀÁøu RÌPõq©õÖ 
AøÇUP¨£kQÓx. 

(A) Immigration (B) Emigration 

 «ÒSi÷¯ØÓ®  ¦»® ö£¯ºuÀ 

(C) Migration (D) Mobilization 
 Ch® ö£¯ºuÀ  |Pºø© 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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83. Which is the most effective way to conserve the plant diversity in an
area? 
J¸ £Sv°À EÒÍ uõÁμ® £À¾°º ÁøPø©ø¯¨ £õxPõ¨£uØPõÚ ªPa]Ó¢u 
ÁÈ ¯õx? 

(A) by developing seed bank 
 Âøu Á[Qø¯ ÷©®£kzxÁuß ‰»® 

(B) by tissue culture method  
 v_ ÁÍº¨¦ •øÓ ‰»® 

(C) by creating botanical garden 
 uõÁμÂ¯À ÷uõmh® E¸ÁõUSÁuß ‰»® 

(D) by creating biosphere reserves 
 E°º÷PõÍU Põ¨£P[PÒ E¸ÁõUSÁuß ‰»® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

84. India is a signatory to Convertonal International Trade in Endangered
Species (CITES) and it was came into force in the year of 
AÈ¢x Á¸® E°›Ú[PÎß \ºÁ÷u\ ÁºzuP® öuõhº£õÚ J¨£¢uzvÀ 

(CITES) C¢v¯õ øPö¯Êzvmk |øh•øÓUS Á¢u Bsk 

(A) 1936 (B) 1975 

(C) 1973 (D) 1972 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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85. National Biodiversity Authority (NBA) has been set up at which place? 
÷u]¯ £À¾°º £ß©¯ BøÚ¯® G[S Aø©UP¨£mkÒÍx? 

(A) Chennai (B) Mumbai 

 ö\ßøÚ  •®ø£ 

(C) Kolkatta (D) Hyderabad 
 öPõÀPzuõ  øíuμõ£õz 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

86. Which one of the following is not a functional unit of an ecosystem? 
¤ßÁ¸ÁÚÁØÖÒ Gx J¸ `ÇÀ öuõS¨¤ß ö\¯»õUP A»S Qøh¯õx? 

(A) Productivity (B) Stratification 

 EØ£zvz vÓß  AkUPø©Ä 

(C) Energy flow (D) Decomposition 
 BØÓÀ ÁÈ Kmh®  ]øuÁøhuÀ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

87. —————— is most effective for controlling pests without causing any
pollution in the environment. 
–––––––––– _ØÖa`Ç¼À G¢u ©õ_£õmøh²® HØ£kzuõ©À §a]PøÍU 
Pmk¨£kzu ªPÄ® £¯ÝÒÍuõP C¸US® 

(A) MPI (B) PIM 

(C) IPM (D) INM 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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88. River cauvery of Tamilnadu is polluted with —————— from the 
factory located near mettur dam on the river. 
÷©mlº AønUS A¸QÀ EÒÍ –––––––––– öuõÈØ\õø»°À uªÇPzvß PõÂ› 
BÖ ©õ_£kQÓx 

(A) Mercury (B) Cement Factories 

 £õuμ\®  ]ö©sm öuõÈØ\õø»PÒ 

(C) Caustic Soda mills (D) Sugar mills 
 PõìiU ÷\õhõ Bø»PÒ  \ºUPøμ Bø»PÒ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

89. One of the following component is the cause for photochemical smog 
¤ßÁ¸® TÖPÎÀ JßÖ JÎ÷Áv¨¦øP £ÛUS •UQ¯ Põμn©õS® 

(A) NO2 (B) CO2 

(C) SO2 (D) CO 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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90. Analyse the following statement and find the appropriate answer(s): 

RÌPõq® TØÖUPøÍ Bμõ´¢x ö£õ¸zu©õÚ Âøh/ÂøhPøÍ PshÔP 

The physiological adaption(s) for hydrophytes is/are 

}º{ø»zuõÁμ[PÎß Eh¼¯ uPÁø©¨¦(PÒ) 

(1) In submerged plants, absorption of water and nutrients are
absorbed through the general leaf surface. 

 }º ‰ÌQ¯ uõÁμ[PÒ, }º ©ØÖ® ~srmha\zxUPøÍ Cø»PÒ ‰»® 
EÔg_QßÓÚ 

(2) In submerged hydrophytes, there is no transpiration. 

 }º ‰ÌQ¯ uõÁμ[PÎÀ }μõUS¨÷£õUS |øhö£ÖÁvÀø». 

(3) Vascular tissues are well developed. Tracheids and vessels have
thick lignified walls. 

 CøÁPÎ¾ÒÍ \õØÖUPØøÓPÒ |ßS ÁÍºa] Aøh¢x® AvP©õÚ
¼UÛøÚ²® öPõsi¸US® 

(4) Gaseous exchange takes place through the surface cells of the leaf. 
 O2 EÒÎmh Áõ²UPÎß £›©õØÓ® Cø»PÎß £μ¨¤ß ÷©÷» 

|øhö£ÖQÓx. 

(A) (1) and (2) are corrects  

 (1) ©ØÖ® (2) \›¯õÚøÁ 

(B) (1), (3) and (4) are correct 

 (1), (3) ©ØÖ® (4) \›¯õÚøÁPÒ 

(C) (1), (2) and (4) are correct  

 (1), (2) ©ØÖ® (4) \›¯õÚøÁPÒ 

(D) (1), (2), (3) and (4) are correct 
 (1), (2), (3) ©ØÖ® (4) \›¯õÚøÁPÒ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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91. The plant succession that begins in an area rich in organic matter and
dominated by fungi and detrivored is known as 
uõÁμ Á›ø\ öuõhº¦ §gø\ ©ØÖ® ©USsoPÒ E¸ÁõUS AvP ö\ÔÄÒÍ 
P›© ö£õ¸mPÒ {øÓ¢u £Sv°¼¸¢x xÁ[SÁøu RÌPõq©õÖ 
AøÇUP¨£kQÓx 

(A) Autotropic Succession  
 ußÞmh uõÁμ öuõhº Á›ø\ 

(B) Heterotrophic Succession 

 A¯¿mh E°›PÒ E¸ÁõUS P›© ö£õ¸mPÎ¼¸¢x uõÁμ öuõhº Á›ø\

(C) Allogenic Succession  
 E°›À»õ (A) u›_ £Sv°¼¸¢x uõÁμ öuõhº¦ Aø©uÀ 

(D) Primary Succession 
 •ußø© uõÁõμ öuõhº¦   

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

92. The following one is the stands for “NASCO” 
NASCO Gß£x RÌPõq® G¢u JßÔß Â›ÁõUP® 

(A) North American Salmon Conservation Organization 
 Áh Aö©›UP \õÀ©ß £õxPõ¨¦ Aø©¨¦ 

(B) North Antartic Social Conservation Organization  
 Áh AshõºiUPõ \‰P £õxPõ¨¦ Aø©¨¦ 

(C) North Atlantic Salmon Conservation Organization 
 Áh Am»õsiU \õÀ©ß £õxPõ¨¦ Aø©¨¦ 

(D) North Artic Salmon Conservation Organization 
 Áh BºUiU \õÀ©ß £õxPõ¨¦ Aø©¨¦ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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93. UNFCCC treaty was signed in 1992 with UNCED for limiting the
increase in free house gases in the atmosphere and it was entered into
force in the following year. 
AvP AÍÂ»õÚ £_ø©USiÀ Áõ²UPøÍ ÁÎ©sh»zvØS öÁÎ°h 

Pmk¨£kzu UNFCCC GßÓ J¨£¢u® UNCED GßÓ Aø©¨¦hß 1992 ® 
Bsk øPö¯Êzvmhx. CÆöÁõ¨£¢u® G¢u Bsk |øh•øÓUS Á¢ux? 

(A) February 1994 (B) March 1994 

 ¤¨μÁ› 1994  ©õºa 1994 

(C) August 1994 (D) December 1994 
 BPìk 1994  i\®£º 1994 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

94. The World Summit in Sustainable Development (WSSD) was held at
Johannesberg in the year of 
{ø»¯õÚ ©ØÖ® }izu ÁÍºa]UPõÚ \ºÁ÷u\ Ea] ©õ|õk (WSSD) RÌPsh 
G¢u Bsk ÷áõP÷Úõì Lö£ºUÀ |øhö£ØÓx 

(A) 2003 (B) 2000 

(C) 2004 (D) 2002 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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95. An area with luxuriant growth of lichens on the trees indicates that the 
J¸ £Sv°À EÒÍ ©μ[PÎÀ ø»UPßPÒ ªPÄ® A£›ªu©õP ÁÍº¢v¸¨£x 
Cøua _miUPõmkQÓx 

(A) area is highly polluted 
 A¢u¨ £Sv AvP® ©õ_£mi¸US® 

(B) trees are heavily infested 
 ©μ[PÒ AvPÍÂÀ £õvUP¨£mi¸US® 

(C) area is not polluted 
 A¢u¨ £Sv°À ©õ_£õk C¸UPõx 

(D) trees are very healthy 
 ©μ[PÒ B÷μõUQ¯©õP C¸US® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

96. For preventing water pollution and restoring water quality of Ganga, the
Ganga Action Plan (GAP) is a project approved by the MOEF, in the year 
of 
P[øP BØÔß }º ©õ_£õmøhz uk¨£uØS®, }›ß uμzøu «möhk¨£uØS® 

P[øP ö\¯À vmh® (GAP), _ØÖa`ÇÀ ÁÚ® ©ØÖ® Põ»{ø» ©õØÓ 
Aø©a\PzvÚõÀ G¢u Bsk {øÓ÷ÁØÓ¨£mhx 

(A) 1982 (B) 1985 

(C) 1988 (D) 1987 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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97. Most animals that live in deep oceanic water are 
BÇ©õÚ ö£¸[PhÀ }›À Á]US® Â»[SPÍõÁÚ 

(A) Primary consumers  
 •uÀ{ø» ~Pº÷ÁõºPÍõS® 

(B) Secondary consumers 

 Cμshõ® {ø» ~Pº÷ÁõºPÍõS®   

(C) Tertiary consumers  
 ‰ßÓõ® {ø» ~Pº÷ÁõºPÍõS® 

(D) Detritivores 
 ©mSsoPÍõS®   

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

98. The tendency of natural ecosystem to resist change and remain as such
in a state of equilibrium which is known as 
C¯ØøP°ß ©õØÓ[PÐUS Em£mk AUPõμoPÍõÀ ©õØÓ©øh¯õ©À 
“\©{ø»ø¯” uUP øÁzx öPõÒÐ® `Ì{ø» Aø©¨¤À ÷Põ¨¦US 
RÌPõq©õÖ AøÇUP¨£kQÓx 

(A) Heterostasis (B) Homeostasis 

 \©©ØÓ{ø»  ^ºvh{ø» 

(C) Thermoregulation (D) Osmoregulation 
 öÁ¨£^μø©Ä  }μÊzu {ø» 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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99. Which of the following statement is true in related to energy flow in an
ecosystem? 

`Ì{ø» ©sh»zvÀ \Uv Kmh® SÔzu TØÖPÎÀ GøÁ/Gx \›¯õÚx? 

(i) The energy flow in ecosystem is Unidirectional. 

 \Uv Kmh® Gß£x J¸ ÁÈ¨£õøu. 

(ii) In the ecosystem, there is no scope of cycling energy. 

 `Ì{ø» ©sh»zvÀ BØÓÀ v¸®£¨ ö£Ó •i¯õx. 

(iii) The green plants store energy as potential energy. 

 £_ø©zuõÁμ[PÒ {ø» \Uv BØÓø»U öPõskÒÍx. 

(iv) The energy decreases during one form to another. 
 J¸ ©mhzv¼¸¢x ©ØöÓõ¸ ©mhzvØS ö\À¾® ÷£õx BØÓÀ SøÓQÓx 

(A) All of these are correct  
 |õßS ö£õ¸zu[PÐ® \›¯õÚøÁ 

(B) Only (i) is correct 

 (i) ©mk® \›¯õÚøÁ   

(C) Only (ii) is correct  

 (ii) ©mk® \›¯õÚøÁ   

(D) Only (iii) is correct 
 (iii) ©mk® \›¯õÚøÁ     

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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100. Identify the incorrectly paired international environmental agencies. 

uÁÓõP CønUP¨£mh \ºÁ÷u\ _ØÖa`ÇÀ •Pø©PøÍ Aøh¯õÍ® PõnÄ®. 

(1) UNEP – United Nations Environment Programme 

 ²GßC¤ – IUQ¯ |õkPÎß _ØÖa`ÇÀ vmh®  

(2) GEF  – Global Environmental facility 

 ãCGL¨ – E»PÍõÂ¯ _ØÖa`ÇÀ Á\v  

(3) WWF  – World Wildlife Fund for Nature 

 WWF – C¯ØøPPõÚ E»P ÁÚÂ»[S {v 

(4) IUCN  – International Union for Conservation of
Natural resources 

 I²]Gß – C¯ØøP ÁÍ[PøÍ¨ £õxPõ¨¦UPõÚ  
    \ºÁ÷u\ JßÔ¯®  

(A) (1) and (3) are correct (B) (2) and (4) are correct 

 (1) ©ØÖ® (3) \›  (2) ©ØÖ® (4) \› 

(C) (1) and (2) are correct (D) (3) and (4) are correct 
 (1) ©ØÖ® (2) \›  (3) ©ØÖ® (4) \› 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

101. Which organism produce chloramphenicol antibiotics? 
RÌPshÁØÔÀ G¢u ~sq°› S÷Íõμ®¤ÛPõÀ GßÝ® ~sq°º áõÀ¼ø¯ 
E¸ÁõUSQÓx? 

(A) Streptomyces sp. (B) Penicillin sp. 
 ìmöμ¨÷hõø©]ß ÁøP  ö£Û]¼ß ÁøP 

(C) Aspergillus sp. (D) Cephalosporium sp. 
 Bì£ºâÀ»ì ÁøP  ö\£÷»õì÷£õ›¯® ÁøP 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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102. Both fungal cell wall deterioation and plant disease biotrytis  is
controlled by 
§gø\PÎß ö\À_Áøμ AÈUPÁÀ» ©ØÖ® uõÁμ ÷|õ¯õÚ ÷£õm›iì 
Pmk£kzx® Gvº E°› ©¸¢x 

(A) Cephalosporium (B) Streptomycin 

 ö\£÷»õì÷£õ›¯®  ìμ¨÷hõø©]ß 

(C) Griseofulvin (D) Penicillin 
 Q›ê÷¯õ£ÀÂß  ö£ß]¼ß 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

103. Name the technique in which the separation of molecules is based on
size, shape and molecular weight. 
G¢u ~m£zvß ‰»® ‰»UTÖPÒ Auß AÍÄ, E¸Á®, Gøh BQ¯ÁØÔß 
Ai¨£øh°À ¤›UP¨£kQÓx.  

(A) Gel filtration chromatography 
 öáÀ ¤Àmöμõåß S÷μõLTÌ© ÁiÁø©¨¦ {Ó¨¤›øP 

(B) Affinity chromatography  
 |õmh® {Ó¨¤›øP 

(C) Ion-exchange chromatography 
 A¯Û £›©õØÓ {Ó¨¤›øP 

(D) Thin layer chromatography 
 ö©À¼¯ AkUS {Ó¨¤›øP 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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104. The potency of antibiotics is normally expressed in terms of 
Bßi£¯õiUSPÎß ö\¯ÀvÓøÚ öÁÎ¨£kzx® ö\õÀ 

(A) g  

 Q  

(B) dalton 
 hõÀhß 

(C) units/mL or units/mg  
 A»SPÒ /ª.¼ AÀ»x A»SPÒ /ª.Q  

(D) base pairs 
 Põμ CønPÒ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

105. Identify the natural penicillin. 
C¯ØøP¯õÚ ö£ß]¼øÚ PshÔP. 

1. Penicillin – A 

 ö£Û]¼ß H 

2. Penicillin – G 

 ö£Û]¼ß â 

3. Penicillin – V 

 ö£Û]¼ß Â 

4. Penicillin – J 
 ö£Û]¼ß öá 

(A) (1) and (3) (B) (2) and (4) 

 (1) ©ØÖ® (3)  (2) ©ØÖ® (4) 

(C) (1) and (2) (D) (2) and (3) 
 (1) ©ØÖ® (2)  (2) ©ØÖ® (3) 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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106. Causative organism of little leaf of brinjal is 
Pzu›°À ]ØÔø» ÷|õø¯z ÷uõØÖÂUS® ÷|õ´UPõμo 

(A) Bacteria (B) Fungi 

 £õUj›¯õ  §gø\ 

(C) Viruses (D) Mycoplasma 
 øÁμìPÒ  ø©÷Põ¤Íõì©õ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

107. Fusarium Oxysporum is caused the cotton plant and produce wilt
disease. This fungus enter initially through the 
¦÷é›¯® BUêì÷£õμ® GÝ® §gø\ £kzv, £°›À ÁõhÀ ÷|õø¯z 
÷uõØÖÂUQÓx. C¢u §gø\ CzuõÁμzvß G¢u¨ £Sv°À •u¼À 
Fk¸ÄQÓx. 

(A) leaf (B) stem 

 Cø»  usk 

(C) root (D) fruit 
 ÷Áº  PÛ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

108. Late blight disease of potato caused by 
E¸øÍUQÇ[QÀ HØ£k® ¤ß£¸Á P¸PÀ ÷|õ°øÚ E¸ÁõUS® Põμo 

(A) Synchytrium endobioticum (B) Alternaria Solani 

 ]ßøPi›¯® Gs÷hõ£÷¯õiP®  BÀh÷Ú›¯ ö\õ»Û 

(C) Cercospora Concors (D) Phytophthora Infestans 
 \º÷Põì÷£õμõ Põß÷Põºì  ø£m÷hõ÷£z÷uõμõ Cßö£ìhß 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 



Botany – 268  
   
 

56

109. Bunchy top of banana virus is usually transmitted by a/an 
ÁõøÇ •iUöPõzx ÷|õø¯ EshõUS® øÁμìPøÍ¨ £μ¨¦Áx J¸ ÁøP¯õÚ 

(A) bacteria (B) aphid 

 £õUj›¯õ  A¤mì 

(C) insects (D) water 
 §a]PÒ  }º 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

110. Albugo Candida is infected on the Brassicaceae members which 
produced white dense pustules, this disease called 
AÀ¦÷Põ Põßihõ GÝ® §gø\ PkS Sk®£ uõÁμ[PÎÀ Fk¸Â Ahº¢u 
öÁsø©¯õÚ öÁi¨¦ ø©¯[PÎÀ ì÷£õºPøÍ E¸ÁõUSQßÓÚ. 
C¢÷|õ°øÚ CÆÁõÖ AøÇUQÓõºPÒ. 

(A) Dawny mildew (B) Yellow rot 

 hõÛªÀk³  ©g\Ò AÊPÀ 

(C) White rust (D) Cottony rust 
 öÁs x¸  £g_z x¸ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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111. Select the wrong pair.  
uÁÓõÚ Cønø¯z ÷uº¢öukUPÄ®. 

(i) Anabaena  – Nitrogen Fixation 

 AÚ¥Úõ    ø|mμáß {ø» {ÖzxuÀ 

(ii) Rhodospirillum  – Mycorrhiza 

 ÷μõ÷hõìø£›À»®   ø©U÷Põøμ\õ 

(iii) Rhizobium  – Alfalfa 

 øμ÷\õ¤¯®    AÀL£õÀ£õ 

(iv) Frankia  – Alnus 
 L¨μõßQ¯õ  AÀÚì  

(A) (ii) and (iii) (B) (ii) only 

 (ii) ©ØÖ® (iii)  (ii) ©mk® 

(C) (iii) and (iv) (D) (i) only 
 (iii) ©ØÖ® (iv)   (i) ©mk® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

112. Bacteria commonly reproduces vegetatively by 
£õUj›¯õÂÀ ö£õxÁõP Eh» CÚ¨ö£¸UP® CÆÁõÖ |øhö£ÖQÓx. 

(A) Conjugation (B) Binary fission 

 CønÄ  Cμmøh¨ ¤ÍÄÖuÀ 

(C) Budding (D) Oidia 
 ö©õmikuÀ  B´i¯õ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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113. Pili are otherwise called as 
ø£¼PÎß ÷ÁÖ ö£¯º 

(A) Flagella (B) Fimbriae 

 Pø\°øÇPÒ  ¤®›÷¯õ 

(C) Blepharoplast (D) Granules 
 ¤Î£÷μõ¤Íõìm  ~sxPÒPÒ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

114. Cluster of polar flagella at one end of bacteria are called as 
Pø\°øÇPÒ £õUj›¯[PÎß J¸ •øÚ°À ©mk® öPõzuõP Põn¨£kÁx 

(A) Amphitrichous (B) Peritrichous 

 B®¤iøμUPì  ö£›iøμUPì 

(C) Lophotrichous (D) Atrichous 
 ÷»õ÷£õiøμUPì  HiøμUPì 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

115. The commonest method of reproduction in bacteria is 
£õUj›¯[PÎß ö£õxÁõÚ CÚ¨ö£¸UP •øÓ 

(A) Binary fission (B) Budding 

 CμshõP ¤›uÀ  A¸®¦uÀ 

(C) Fragmentation (D) Endospore formation 
 xshõuÀ  Gs÷hõì÷£õº E¸ÁõuÀ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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116. The protective coat of bacteriophage is made up of 
£õUj›÷¯õ£õâß £õxPõ¨¦ EøÓ, GuÚõÀ BÚx? 

(A) DNA (B) RNA 

 i.Gß.H  Bº.Gß.H 

(C) Proteins (D) Organic acids 
 ¦μu®  P›© Aª»® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

117. The term bacteriophage was first coined by 
£õUj›÷¯õ÷£äPÒ GßÝ® ö\õÀ¼øÚ •ßö©õÈ¢uÁº  

(A) Frederick M. Twort (B) Felix d’ Herelle 

 ¤›i›U M. iÁõºm  ö£¼Uì d’ öí›¼ 

(C) Harrison (D) Adanson 
 íõ›\ß  Ahõß\ß 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

118. Cyanophages were discovered by 
}»¨£aø\¨ £õ]PøÍz uõUS® øÁμìPøÍU Psk¤izuÁº ¯õº? 

(A) Safferman and Morris (B) Jacob and Monad 

 éõL£º÷©ß ©ØÖ® ÷©õ›ì  ÷áUP¨ ©ØÖ® ÷©õÚm 

(C) Anton Van Leewenhoek (D) Hollings 
 Bshß Áõß ½ÁßíõU  ÷íõ¼[ì 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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119. Based on the mode of action of antibiotics, they include 
Gvº E°º¨ ö£õ¸mPÒ ö\¯À£k® Âuzvß Ai¨£øh°À RÌUPõq®
ußø©PøÍU öPõskÒÍÚ. 

(1) Inhibition of cell wall synthesis 

 ö\À _Áº EØ£zvø¯z uk¨£x 

(2) Damage the cytoplasmic membrane 

 ö\À \ÆøÁ ÷\u¨£kzxÁx 

(3) Inhibition of nucleic acid and protein synthesis 

 {³UÎU Aª»® ©ØÖ® ¦μu EØ£zvø¯ uk¨£x 

(4) Inhibition of mitochondria synthesis 
 ø©m÷hõPõßi›¯õ E¸ÁõÁøuz uk¨£x 

(A) (1) only correct (B) (1) and (2) are correct 

 (1) ©ØÖ® \›¯õÚx  (1) ©ØÖ® (2) ® \›¯õÚx 

(C) (4) is wrong (D) (3) only correct 
 (4) uÁÓõÚx  (3) ©mk® \›¯õÚx 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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120. In Gram Negative bacterial cell wall usually impermeable to larger
molecules, but it has special protein channels for transfer of larger
molecules called 
Qμõ® ö|PmiÆ £õUj›¯õUPÎÀ Auß ö\À_Áº ö£õxÁõP÷Á ö£›¯ 
‰»UTÖPøÍU Phzx® ußø©¯ØÓx, BÚõ¾® ö£›¯ ‰»UTÖU Phzu 
]Ó¨£õÚ ¦μu ÁÈPøÍU öPõskÒÍx, C¢u ¦μu ÁÈPÒ 

(A) Adhesions (B) Nucleins 

 AmQåÚì  {³UÎßì 

(C) Porins (D) Emetins 
 ÷£õ›ßì  Gªmißì 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

121. Find out the tautonym from the following plant names. 
RÌPõq® uõÁμ¨ ö£¯ºPÐÒ hõmhõÛ® ö£¯øμU Psk¤iUP.  

(A) Cajanus Cajan (B) Sesbania Sesban 

 PáõÚì Páß  ö\ì£õÛ¯õ ö\ì£ß 

(C) Malus Malus (D) Mimosa Mimosoides 
 ©õ»ì ©õ»ì  ø©÷©õéõ ø©÷©õéõ´hì 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

122. In ICBN, duplicate of syntype is an 
uõÁμ ö£¯›h¼ß \ºÁ÷u\ SÔ±miÀ ]ßøh¨¤ß |PÀ Gß£x  

(A) Epithet (B) Isotype 

 Aøhö©õÈ  I÷\õ ÁøP  

(C) Isosyntype (D) Neotype 
 I÷\õ ]ß ÁøP  {÷¯õ ÁøP 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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123. A collection of one or more populations of organisms known as 
E°›Ú[PÎß JßÖ AuØS ÷©Ø£mh ©UPÒ öuõøPPÎß öuõS¨¦ 

(A) Genome (B) Taxon 

 ©μ£q  ÁøP£õk 

(C) Genus (D) Species 
 ÷£›Ú®  ]ØÔÚ®  

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

124. Pendulous flowers of Yucca is specially adapted for  
³UPõ uõÁμzvß P¼Ì ©»ºPÒ C¢u Põμo ‰»® ©Pμ¢ua ÷\ºUøP |øhö£Ó 
HxÁõP EÒÍx 

(A) Wind pollination (B) Birds pollination 

 PõØÖ  £ÓøÁPÒ 

(C) Bat pollination (D) Insects pollination 
 ÁÆÁõÀ   §a]PÒ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

125. Ricinus Communis is an example for 
B©nUS CuØS ]Ó¢u Euõμn©õS® 

(A) Monoecy (B) Dioecy 

 K›À»zußø©  D›À»zußø© 

(C) Protandry (D) Protogymy 
 ¦÷μõmhß›   ¦÷μõm÷hõ÷Pª 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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126. Identify the type, in which the pollination takes place between flowers
borne on two different plants of the same species. 
J÷μ ]ØÔÚzøua ÷\º¢u Cμsk öÁÆ÷ÁÖ uõÁμ[PÎÀ ©»¸® §UPÐUS 
Cøh÷¯, ©Pμ¢u ÷\ºUøP |øhö£Ö® ÁøPø¯ PshÔ¯Ä® 

(A) Xenogamy (B) Geitonogamy 

 ^÷ÚõPõª   R÷hõ÷ÚõPõª 

(C) Autogamy (D) Allogamy 
 Bm÷hõPõª  AÀ÷»õPõª 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

127. Bentham and Hooker’s are not followed the uniform hierarchy of
classification for these two plant groups. 
ö£¢u® ©ØÖ® íúUPº uõÁμ ÁøP¨£õmiÀ RÌPõq® Cμsk uõÁμ 
öuõSvPÐUS \©©õÚ ÁøP¨£õmi¯À {ø»PøÍU Pøh¤iUPÂÀø». 

(A) Polypetalae and Gamopetalae  

 £õ¼ö£mh÷» ©ØÖ® ÷P÷©õö£mh÷»  

(B) Thalamiflorae and Disciflorae 
 u»õªL¤÷Íõ÷μ ©ØÖ® iìQL¦÷Íõ÷μ 

(C) Monochlamydeae and Monocot 
 ÷©õ÷ÚõQÍõª÷h ©ØÖ® ÷©õ÷ÚõPõm 

(D) Inferae and Heteromerae 
 CßLö£÷μ ©ØÖ® öími÷μõ«÷μ  

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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128. The most primitive family in the angiosperms is 
Bg]÷¯õìö£º®PÎÀ ªPÄ® •ØPõ»zv¯ Sk®£©õÚx  

(A) Magnollaceae (B) Aricaceae 

 ©U÷Úõ¼÷¯õê  A›÷Pê 

(C) Capparidiaceae (D) Verbenaceae 
 P¨£õ›÷hê  öÁº¤÷Úê 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

129. Match the following: 
ö£õ¸zxP :   
(a) Microspermae 1. Ovary superior, carpels united, perianth

coloured  
 ø©U÷μõìö£º÷©  `»P® ÷©À, `ÀÂzvø» ÷\º¢x, §ÂuÌ 

{Ó•øh¯x  
(b) Epigynae 2. Ovary superior, carpels united, perianth

green 
 G¨¤øP÷Ú  `»P® ÷©À, `ÀÂzvø» ÷\º¢x, £aø\ {Ó 

§ÂuÌ 
(c) Coronarieae 3. Ovary inferior, seeds minute 
 öPõ÷μõ÷Ú›÷¯  `»P® RÌ, ]Ô¯ ÂøuPÒ 
(d) Calycinae 4. Ovary inferior, seeds large 
 Põ¼]÷Ú  `»P® RÌ, ö£›¯ ÂøuPÒ 

 (a) (b) (c) (d) 
(A) 4 1 2 3 
(B) 3 4 1 2  
(C) 1 3 2 4 
(D) 2 1 4 3 
(E) Answer not known 
 Âøh öu›¯ÂÀø» 



   268 – Botany 
  [Turn over 

65

130. Observe the following floral diagrams, pickup the correct diagram for
male and female flowers of Arecaceae. 

 
RÌPõq® ©»º Áøμ£h[PøÍ Tº¢x ÷|õUQ, A›U÷Pê Sk®£zvß Bs 
©ØÖ® ö£s ©»º §a]zvμ[PøÍ ÷uº¢öukUP.  

 

(A) A and C (B) A and B 

 A ©ØÖ® C  A ©ØÖ® B 

(C) B and C (D) C and D 
 B ©ØÖ® C  C ©ØÖ® D 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

131. Ray florets of sunflower do not have 
`›¯Põ¢v¨ §Âß Pvº]Ö ©»ºPÎÀ Cx Põn¨£kÁvÀø» 

(A) Inferior ovary (B) Basal placentation 

 RÌ©mh `»P®   Aizumk P¸ Cøn¨¦ 

(C) United petals (D) Stamens 
 Cøn¢u ©»›uÌPÒ  ©Pμ¢u uõÒPÒ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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132. The following Euphorbiaceae family species used in prepare for orchil
and litmus 
R÷Ç öPõkUP¨£mkÒÍ ³÷£õº¤÷¯] Sk®£zvÀ EÒÍ G¢u ]ØÔÚzvÀ 
C¸¢x Bº]À ©ØÖ® ¼m©ì uõÒ u¯õ›UP¨£kQÓx  

(A) Jatropha Gossipitolia (B) Crozophora Tinctoria 

 ám÷μõ£õ Põ]¤÷hõ¼¯õ   S÷μõ÷\õ÷£õμõ iß[÷hõ›¯õ 

(C) Jatropha Curcas (D) Ricinus Communis 
 ám÷μõ£õ SºPì  ›]Úì P®³Ûì 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

133. Which one of the pair is not incorrect? 

RÌUPsh TØÔÀ GøÁ \›¯õP ö£õ¸¢uÂÀø»? 

(a) Leguminosae – Diadelphous 

 ö»Sª÷Ú]   C¸PØøÓ ©Pμ¢uU PØøÓ 

(b) Asteraceae – Syngenecious 

 Aìh÷μ]   ]gö\Û]¯ì 

(c) Arecaceae – Numerous 

 A›U÷P]   GsnØÓøÁ 

(d) Rutaceae – Polyadelphons 
 ¹m÷h]  £»PØøÓ 

(A) (a) only (B) (b) only 

 (a) ©mk®  (b) ©mk® 

(C) (c) and (d) only (D) (d) only 
 (c) ©ØÖ® (d) ©mk®  (d) ©mk® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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134. Prop roots of Banyan tree belongs to  

B»©μzvß uõ[S÷ÁºPÒ RÌPsh ÁøPPÎÀ Ah[S® 

I. Adventitious roots 

 ÷ÁØÔh ÷ÁºPÒ 

II. Embryonic roots 

 P¸Â¯À ÷ÁºPÒ 

III. Aerial roots 

 uøμ÷©À ÷ÁºPÒ 

IV. Respiratory roots 
 _Áõ]US® ÷ÁºPÒ 

(A) I and III are correct; II and IV are incorrect 

 I ©ØÖ® III \›; II ©ØÖ® IV uÁÖ 

(B) I and IV are correct; II and III are incorrect 

 I ©ØÖ® IV \›; II ©ØÖ® III uÁÖ 

(C) II and III are correct; I and IV are incorrect 

 II ©ØÖ® III \›; I ©ØÖ® IV uÁÖ 

(D) III and IV are correct; I and II are incorrect 
 III ©ØÖ® IV \›; I ©ØÖ® II uÁÖ   

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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135. Match the following: 
\›¯õÚÁØøÓ¨ ö£õ¸zxP:   
 Characters   Plants 
 £s¦PÒ   uõÁμ[PÒ 
(a) Root climber  1. Galium  
 ÷Áº £ØÖU öPõi   Põ¼¯® 
(b) Tendril climber  2. Bougainvillea  
 £ØÖUP®¤ £ØÖUöPõi  ÷£õøPßÂ¼÷¯ 
(c) Thorn climber  3. Passiflora 
 •Ò £ØÖUöPõi   £õ]¦÷Íõμõ 
(d) Hook climber  4. Pepper 
 öPõUQ £ØÖUöPõi   ªÍS 

 (a) (b) (c) (d) 
(A) 3 4 1 2 
(B) 3 1 4 2  
(C) 4 3 2 1 
(D) 1 2 3 4   
(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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136. Which among the pair is NOT correctly matched? 
RÌUPsh TØÖPÎÀ Gx \›¯õP¨ ö£õ¸¢uõuøÁ?  

 Roots  Examples 

 ÷ÁºPÒ    Euõμn[PÒ 

(a) Prop roots – Banyan 
 ys÷ÁºPÒ    B»©μ® 

(b) Stilt root  – Pandanus 
 uõ[S® ÷ÁºPÒ   uõÇ®§ 

(c) Respiratory root – Rhizophora 
 _Áõ]US® ÷ÁºPÒ   øμ÷\õ÷£õμõ 

(d) Epiphyte  – Vanda    
 öuõØÖz uõÁμ®   Áõshõ 

(A) (a) only (B) (a) and (b) only 

 (a) ©mk®  (a) ©ØÖ® (b) ©mk® 

(C) (c) only (D) (c) and (d) only 
 (c) ©mk®  (c) ©ØÖ® (d) ©mk® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

137. The twisting of floral axis through 180º at the time blossoming in some
flowers, this phenomenon is called 
©»›ß ø©¯ Aa_ 180° _ÇÀÁx § ©»¸® u¸nzvÀ ]» uõÁμ[PÎÀ 
AÔ¯¨£kQÓx, C¢{PÌÄ CÆÁõÖ AøÇUP¨£kQÓx 

(A) Recombination (B) Resupination 

 ›Põ®¤÷Úéß  ›`¨¤÷Úéß 

(C) Resurrection (D) Re–orientation 
 öμ_μUéß  ›&K›ö¯ß÷héß 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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138. Select out the special type of inflorescence. 
¤ßÁ¸® ©g\› ÁøPPÎÀ ]Ó¨¦ ÁøP ©g\›ø¯ ÷uº¢öuk 

(A) Compound umbel (B) Cyathium 

 Tmk A®ö£À   \¯õzv¯® 

(C) Capitulum (D) Compound Spadix 
 Põ¨¤mk»®  Tmk ì£õiUì 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

139. Which among the following inflorescence posses vessel like receptacle 
with small opening at the top and bearing flowers. 
RÌUPõq® ©g\›PÎ¾® ÷©Ø¦μzvÀ ]Ô¯ vÓ¨¦hß Ti¯ xøÍ ÷£õß 
xøÍ°ß EÒÍ §UPøÍU öPõskÒÍx. 

(A) Verticillaster (B) Thyrse 

 öÁºmi]À»õìhº  øhμì 

(C) Hyponthodium (D) Cyathium 
 øí¨£õ¢÷uõi¯®   \¯õzv¯® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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140. Which of the following pair is NOT correct? 

RÌUPsh TØÖPÎÀ Gx \›¯õP¨ ö£õ¸¢uÂÀø»? 

(a) Capitulum – Ray and disc florets  

 uø» ©g\›  Pvº ©ØÖ® |õÁiÁ ©»ºPÒ 

(b) Spike – Racemose but with stalked flowers 

 ìø£U   öμ^® ©ØÖ® Põ®¦ÒÍ §UPÒ 

(c) Catkin – Spadix like inflorescence 

 ÷PmQß   EøÓ²ÒÍ ©g\› 

(d) Raceme – Single axis bearing flowers 
 öμ^®  ø©¯ Aa_ _ØÔ¾® ©»ºPÒ  

(A) (a) and (b) (B) (b) and (c) 

 (a) ©ØÖ® (b)  (b) ©ØÖ® (c) 

(C) (a) and (c) (D) (b) and (d) 
 (a) ©ØÖ® (c)  (b) ©ØÖ® (d) 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

141. In which of the following bryophytes there are means of vegetative
reproduction? 
¤ßÁ¸® ¤øμ÷¯õø£mkPÎÀ G¢u •øÓ Eh» CÚ¨ö£¸UP ÁøPø¯a 
÷\º¢ux? 

(A) Gemmae (B) Chlamydospores 

 öá®©õ  QÍõª÷hõì÷£õºPÒ 

(C) Hypnospores (D) Zoospores 
 Q¨÷Úõì÷£õºPÒ  `ì÷£õºPÒ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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142. Bryophytes are small thalloid or simply leaf ———— plants. 
¤øμ÷¯õø£mkPÒ ]Ô¯ Eh»ø©¨¦ AÀ»x GÎ¯ Cø» uõÁμ[PÒ Gß£x 

(A) Gametophytic (B) Sporophytic 

 CÚ EØ£zv  ì÷£õº EØ£zv 

(C) Fragmented (D) Monopodial 
 xshõuÀ  JØøÓUSa] ÁÍº¨¦ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

143. Which one of the following is partial parasite in Bryophytes? 
¤ßÁ¸ÁÚÁØÔÀ Gx ¤øμ÷¯õø£mkPÎß £Sv Jmkso? 

(A) Funaria (B) Pellia 

 ¦L÷Ú›¯õ  ö£À¼¯õ 

(C) Fossambronia (D) Notothylas 
 £õ\®¦÷Ú›¯õ  ÷|õm÷hõøu»ì 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

144. The father of Indian Bryology 
C¢v¯õÂß ¨¤øμ÷¯õø£miß u¢øu ¯õº? 

(A) Rothmalar (B) Schimper 

 ÷μõz©õ»º  ìQ®©º 

(C) Sivaram Kashyab (D) Howe 
 ]Áμõ® Põ]¯õ¨  íÆ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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145. Which of the following is eustele in pteridophytes? 
¤ßÁ¸ÁÚÁØÔÀ öh›÷hõø£mkPÎÀ Gx Phzx® v_ Ámh® EÒÍx? 

(A) Ophioglassum (B) Pteris 

 K¤÷¯õQÍõ\®  öh›ì 

(C) Gleichenia (D) Equisetum 
 QøÍUQÛ¯õ  DUSÂ]mh® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

146. Which among the following pteridophytes is trabaculated endodermis in
the stele? 
¤ßÁ¸® öh›÷hõø£mkPÎÀ ÁõìS»õº PØøÓ°À SÇÀ ÷£õßÓ Aø©¨ø£¨ 
ö£ØÖÒÍx? 

(A) Rhynia (B) Selaginella 

 öμÛ¯õ  ö\»õâöÚÀ»õ 

(C) Equisetum (D) Ophiloglossum 
 DUSÂ]mh®  K¤÷»õQ»õ\® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

147. Identify the vascular cylinder breaksup into number of smaller units is
called 
ÁõìS»õº PØøÓ ]Ô¯ A»SPÎß GsoUøP¯õP EøhÁøu Aøh¯õÍ® 
Põn GÆÁõÖ AøÇUP¨£kQÓx? 

(A) Solenostele (B) Dictyostele 

 SÇ»õÚ Phzx® v_ Ámh®  Cμmøh Phzx® v_ Ámh® 

(C) Meristeles (D) Polystele 
 ö£›¯ Phzx® v_ Ámh®  £» v_UPÒ Phzx® v_ Ámh® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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148. The gametophytic generation in bryophytes is always 
¤øμ÷¯õLø£mkPÎß ÷Pªm÷hõLø£m uø»•øÓ RÌPõq® GuøÚ \õº¢ux? 

(A) Independent Structure (B) Dependent Structure 

 uÛzv¯[S® {ø»  \õº¢v¸UQÓ {ø» 

(C) Short lived Structure (D) Non plant body structure 
 S¸Q¯ Põ» E°º {ø»  G¢u Âu EhÀ Aø©¨¦® CÀ»õux

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

149. The development of sporangic from several (many) initial cells into
developed stalk is known as 
J¸ ì÷£õμõg]¯ ÁÍºa] £» xÁUP BUPzv_UPÎ¼¸¢x E¸ÁõÚõÀ AuØS 
ö£¯öμßÚ? 

(A) Eusporangiate (B) Leptosporangiate 

 ³ì÷£õμõg]÷¯m  ö»¨÷hõê÷£õμõg]÷¯m 

(C) Homosporangiate (D) Heterosporangiate 
 ÷íõ÷©õì÷£õμõg]÷¯m  öími÷μõì÷£õμõg]÷¯m 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

150. The medullated protostale is found in which stem of pteridophytes? 
G¢u öh›÷hõLø£miß uõÁμ usiß EÒÍø©¨¤À APzv_ (medullated) 
¦÷μõm÷hõøé® Põn¨£kQÓx. 

(A) Lycopodium (B) Psilotum 

 ø»U÷Põ÷£õi¯®  øé÷»õmh® 

(C) Marsilea (D) Pteris 
 ©õºë¼¯õ  öh›ì 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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151. The sporangium originates from a group of superficial cells that divide
periclinally into outer primary wall cells and inner sporogenous cells. It
is called as 
ì÷£õμõg]¯® ÷©÷»õmh©õÚ ö\ÀPÒ ö£›QøÍÚ»õP ¤›Áuß ‰»® 
E¸ÁõQ  öÁÎ¨¦ÓzvÀ •ußø© _Áº ö\ÀPøÍ²®, Em¦ÓzvÀ 
ì÷£õ÷μõâÚì ö\ÀPøÍ²® öPõsi¸US®. 

(A) Leptosporangiate type (B) Eusporangiate type 

 ö»¨÷hõì÷£õ÷μõg]÷¯m ÁøP  ³ì÷£õ÷μõg]÷¯m ÁøP 

(C) Mixed sorus (D) Prothallus 
 P»¢u ÷\õμì  ¦÷μõuõ»ì 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

152. The sporophytic generation is dominant in 
CvÀ ì÷£õ÷μõø£miU uø»•øÓ ªPÄ® BvUP® ö\¾zxQÓx 

(A) Bryophytes (B) Pteridophytes 

 L¤øμ÷¯õø£mkPÒ  öh›÷hõø£mkPÒ 

(C) Algae (D) Fungi 
 £õ]PÒ  §gø\PÒ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

153. Bryophytes are called as ———— in plant kingdom. 
uõÁμzöuõSv°À ¤øμ÷¯õø£mkPÒ CÆÁõÖ AøÇUP¨£kQÓx. 

(A) Terrestrial (B) Aquatic 

 öhºμìm›¯À  |sp›¯À 

(C) Amphibians (D) Hydrophytes 
 B®¤¤¯ßì  øím÷μõø£mì 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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154. Match the following: 
\›¯õÚÁØøÓ ö£õ¸zx :  
 Characters   Plants 
 £s¦PÒ     uõÁμ[PÒ  
(a) Dichotmously branched  1. Adiantum    
 PÁmk QøÍzuÀ    Ai¯õsh® 
(b) Monopodial branching  2. Selaginella 
 JØøÓ ÁiÁ QøÍzuÀ   ö\»õâÚÀ»õ 
(c) Dimorphic leaves   3. Lycopodium 
 C¸Âu Cø»PÒ    ø»U÷Põ÷£õi¯® 
(d) Underground rhizomatous  4. Tmeripteris 
 stem    jö©›öh›ì   
 uøμRÌ usk 

 (a) (b) (c) (d) 
(A) 1 2 3 4 
(B) 4 3 2 1  
(C) 2 1 4 3 
(D) 3 4 1 2 
(E) Answer not known 
 Âøh öu›¯ÂÀø» 

155. The spore producing structures of Psilotum is 
ì÷£õøμ (©Pμ¢u yÒ) E¸ÁõUS® J¸ ÁøP ø\÷»õmh® uõÁμzvØS ————
GßÖ ö£¯º. 

(A) Sporangia (B) Syangium 

 ì÷£õ÷μäâ¯õ  ø\Úõßâ¯® 

(C) Inducium (D) Stromium 
 Cßl]¯®  ìm÷μõª¯® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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156. According to Rashid (1979) how many genera of pteridophytes are
heterosporous? 
μõ]miß (1979) ß TØÖ¨£i öh›÷hõø£mhõÂÀ GzuøÚ CÚ[PÒ ÷ÁÖ£mh 
ì÷£õºPøÍ E¸ÁõUSQßÓÚ? 

(A) Seven (B) Eight 

 HÊ  Gmk 

(C) Six (D) Nine 
 BÖ  Jß£x 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

157. Name the phenomenon the production of two types of spores in an
individual. 
J¸ uÛ¨£mh Cμsk ÂzvPÎß EØ£zv {PÌÂß ö£¯øμU SÔ¨¤hÄ® 

(A) Homospory (B) Heterospory 

 J¸ ÁiÁ ]uÀ  C¸ ÁiÁ ]uÀ 

(C) Homophyllum (D) Heterophyllum 
 J¸ ÁiÁ Cø»  C¸ ÁiÁ Cø» 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

158. Which pteridophytes show seed habit? 
G¢u öh›÷hõø£m Âøu £ÇUPzøuU PõmkQÓx? 

(A) Homosporous (B) Heterosporous 

 J¸ ÁiÁ ]uÀ  C¸ ÁiÁ ]uÀ 

(C) Exosporic (D) Endosporic 
 öÁÎ Jmi •øÓ  EÒ Jmi •øÓ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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159. In which among the following pteridophytes transitional stage leads to
the development of heterospory? 
¤ßÁ¸® öh›÷hõø£mkPÎÀ Cøh{ø» C¸ ÁiÁ ]uÀ ÁÍºa]US 
ÁÈÁSUQÓx? 

(A) Hymenophyllum (B) Sphenophyllum 

 øíª÷Úõ¤À»®  ì¥÷Úõ¤À»® 

(C) Gleichenia (D) Angiopteris 
 QøÍURÛ¯õ  Bg]¯õ¨öhŸì 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

160. Heterospores plants produce different spores types that results in 
C¸ ÁiÁ ]uÌ uõÁμ[PÒ öÁÆ÷ÁÖ Âzx ÁøP EØ£zv ö\´uÀ Gß£x 

(A) Single cell fusion  

 uÛa ö\À CønÄ  

(B) Double cell fusion 
 C¸ ö\À CønÄ 

(C) Single sex gametophytes  
 JØøÓ £õÀ CønÄ Põªm÷hõø£m 

(D) Double sex gametophytes 
 C¸£õÀ CønÄ Põªm÷hø£m 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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161. Presence of cortical vascular bundles is the characteristic features of the
family 
¦Óoa \õ÷ÓØÓU PØøÓPÒ ö£õxÁõP C¢u uõÁμ Sk®£[PÎÀ Põn¨£kQÓx 

(A) Aristolochiaceae (B) Begonaceae 

 A›ì÷hõ÷»õQ÷¯]  ¤÷Põ÷Ú]÷¯Q 

(C) Annonaceae (D) Apocynaceae 
 Aß÷Úõ÷Ú]÷¯  A÷£õøé÷Úê÷¯ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

162. The deviating methods of normal secondary thickening are called 
ÁÇUPzvØS ©õÓõÚ Cμshõ® {ø» ÁÍºa] CÆÁõÖ AøÇUP¨£k® 

(A) perfect (B) imperfect 

 ªPa \›¯õÚ  ªPa \›¯ØÓ 

(C) anomalous (D) fabulous 
 AÚõ©»ì  AmhPõ\©õÚ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

163. The details of the development of embryo in capsella bursa-pastoris
reported by 
÷P¨ö\À»õ £º\õ–÷£ìm÷hõ›ì GßÓ uõÁμzvÀ P¸{ø» ÁÍºa]ø¯ ÂÍUQU 
TÔ¯Áº 

(A) Maheswari (B) Johansen 

 ©÷PèÁ›  ÷áõPß\ß 

(C) Schnarf (D) Hanstein 
 \ÚõºL¨  íõßìjß 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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164. The meristems which are responsible for the thickness of the plant is 
uõÁμzvß ui©ÝUS Põμn©õÚ BUSzv_UPÒ GøÁ? 

(A) Apical meristems (B) Intercalary meristems 

 ~Û BUSzv_  Cøh{ø» BUSzv_ 

(C) Lateral meristems (D) Primary meristems 
 £UPÁõmk BUSzv_  •ußø© BUSzv_ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

165. Find out the factor leading for the secondary growth of plants. 
uõÁμ[PÎß Cμshõ® {ø» ÁÍºa]US RÌPõq® PõμoPÎÀ JßÖ 
•UQ¯zxÁ® Áõ´¢ux? 

(A) Procambium (B) Primary xylem 

 ¦÷μõ÷P®¤¯®  •u»õ® {ø» ø\»® 

(C) Vascular and cork cambia (D) Secondary xylem 
 ÁõìS»õº ©ØÖ® PõºU ÷P®¤¯®  Cμshõ® {ø» ø\»® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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166. The objective of embryo culture is 
P¸ ÁÍº¨¤ß ÷|õUP©õÚx 

(i) To allow young embryos and give rise to seedlings. 
 CÍ® P¸UPøÍ AÝ©vUPÄ®, |õØÖUPøÍ E¸ÁõUPÄ®. 

(ii) To allow young embryos to produce seeds. 
 CÍ® P¸UPÒ ÂøuPøÍ EØ£zv ö\´¯ 

(iii) Young embryos to complete development. 
 CÍ® P¸UPÎß •Ê ÁÍºa]US 

(iv) All the above  
 ÷©ØPsh AøÚzx® 

(A) (i) and (iii) are correct (B) (i) and (ii) are correct 

 (i) ©ØÖ® (iii) \›  (i) ©ØÖ® (ii) \› 

(C) (i) and (iv) are correct (D) (ii) and (iv) are correct 
 (i) ©ØÖ® (iv) \›  (ii) ©ØÖ® (iv) \› 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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167. Arrange the chronological order. 
Põ» Á›ø\ø¯ JÊ[S¨£kzxP. 

1. Callus 
 Põ»ì 

2. Microspore 
 ø©U÷μõì÷£õº 

3. Plantlet 
 ]Ö uõÁμ® 

4. Embryogenesis 
 P¸ E¸ÁõSuÀ 

(A) 2, 1, 4, 3 (B) 4, 1, 2, 3 

(C) 1, 2, 3, 4 (D) 3, 2, 1, 4 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

168. Megasporogenesis further leads to the development of  
ö©Põì÷£õ÷μõöáÛêì ÷©¾® öuõhº¢x E¸ÁõUPU Ti¯ Akzu Aø©¨¦ 

(A) Embryo Sac (B) Embryo 

 P¸¨ø£  P¸ 

(C) Megaspore mother cell (D) Polar nuclei 
 ö©Põì÷£õº uõ´ ö\À  x¸ÁP¸UPÒ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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169. In the development of dicot embryo, the basal cell usually forms a
suspensor in 
C¸Âzvø»zuõÁμ P¸ E¸ÁõUPzvÀ Aiaö\À \ìö£ß\õº ÷uõØÖÂUS® P¸ 
ÁøP 

(A) Soland type (B) Caryophyllad type 

 ÷\õ»Úõk ÁøP  ÷P›÷¯õ¤À»k ÁøP 

(C) Chenopodial type (D) Asterad type 
 ^Ú¨ ÷£õi¯À ÁøP  Bì¥μõk ÁøP 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

170. Find out the right example of surface fibres. 
÷©Ø¦Ó |õºPÐUS \›¯õÚ GkzxUPõmøh ÷uºÄ ö\´P. 

(A) Gossypium (B) Zingiber 

 Põ]¤¯®  â[Q£º 

(C) Quercus rubra (D) Cannabis Sativa 
 SöÁºPì ¹¨μõ  Pg\õ \õiÁõ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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171. Match the followings : 
¤ßÁ¸ÁÚÁØøÓ ö£õ¸zxP : 
 Sclereid types   Example 
 PiÚv_UPÎß ÁøPPÒ  GkzxUPõmk uõÁμ[PÒ 
(a) Brachy-Sclereids  1. Osmanthus fragrans  
 ¨μõUQ ìUö»›mì   Jì©õßöíì ¨μõUμßì 
(b) Macrosclereids  2. Philodendron gloziovii 
 ÷©U÷μõì QÏøμkPÒ  ¤÷»õöhßμõß S÷Íõ]÷¯õÂ 
(c) Ostero-sclereids  3. Nymphaea nouchalii  
 Bìi÷μõ ìUö»›mì  {®¤¯õ ö|Í\õ¼ 
(d) Astrosclereids  4. Pisum sativum 
 Aìm÷μõìUö»›mì   ø£\® \møhÁ® 

 (a) (b) (c) (d) 
(A) 2 4 1 3 
(B) 4 1 2 3  
(C) 3 1 2 4 
(D) 2 3 4 1 
(E) Answer not known 
 Âøh öu›¯ÂÀø» 

172. The innermost layer of Anther Sac is called as 
©Pμ¢u ø£°ß EÒÍkUS CÆÁõÖ AøÇUP¨£kQÓx 

(A) Exine (B) Endothesium 

 GUøéß  Gs÷hõw]¯® 

(C) Tapetum (D) Intine 
 h¥mh®  Csøhß 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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173. The main functions of endothecium in microsporangium is 
ø©U÷μõì÷£õμõäâ¯zvÀ Gs÷hõw]¯zvß •UQ¯ £o 

(A) Protection of anther sac 
 ©Pμ¢uu¨ø£ø¯ £õxPõUP 

(B) Attachment of anther sac and filament  
 ©Pμ¢u¨ø£ø¯²® ©Pμ¢u P®¤ø¯²® CønzuÀ 

(C) To dehisce for the discharge of pollen 
 öÁizx ©ØÖ® ©Pμ¢u® ]uÖuÀ 

(D) Development of pollengrains 
 ©Pμ¢uzyÒPÎß ÁÍºa] 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

174. In angiosperms, usually the fertilization referred as 
Bg]÷¯õìö£º®PÎÀ ö£õxÁõÚ P¸ÄÖuÀ •øÓ¯õÚx 

(A) Double fertilization (B) Nuclear fusion 

 Cμmøh P¸ÄÖuÀ  EmP¸ CønuÀ 

(C) Unifertilization (D) Double fusion 
 P¸ÄÖuÀ  ‰ÂønÄ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

175. In Gymnosperms, the pollen grains usually land directly on 
â®÷Úõì ö£º®PÎÀ ©Pμ¢u® ÷|›øh¯õP ö\ßÖ ÷\¸ªh® 

(A) Stigma (B) Endosperm 

 `È  •øÍ`Ì v_ 

(C) Nucellus (D) Tapetum 
 {³ö\À»ì  h¨¥mh® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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176. The embryos arise from the tissues living outside the embryo sac is
known as 
P¸¨ø£US öÁÎ÷¯ EÒÍ v_UPÎÀ C¸¢x P¸UPÒ E¸ÁõÁøu CÆÁõÖ 
AøÇUP»õ®. 

(A) cleavage polyembryony (B) apospory 

 ¤ÍÄ£mh £»P¸{ø»  A¨÷£õì÷£õ› 

(C) adventive polyembryony (D) apomixis 
 ÷ÁØÔh £»P¸{ø»  P¸ÄÓõUPÛ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

177. The apospory in angiosperms was first reported by 
P¸ÄÓõUPÛø¯ •uß •u¼À §US® uõÁμ[PÎÀ PshÔ¢uÁº 

(A) Rosenberg 1907 (B) Edinberg 1907 

 ÷μõ\ßö£ºU 1907  Giß ö£ºU 1907 

(C) Winkler 1907 (D) Bhojwani 1907 
 ÂßUÍº 1907  ÷£õäÁõo 1907 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

178. Most common and well known genus that forms symbiotic relationship
with root nodules of legume is 
£¸¨¦ ÁøPPÎß ÷Áº •ia_P÷Íõk Tmk°› •øÓ°À ÁõÇUTi¯, ªPÄ® 
¤μ£»©õÚ |ßS AÔ¯¨£mh £õUj›¯ ÷£›Ú® 

(A) Rhizobium (B) Bradyrhizobium 

 øμ÷\õ¤¯®  ¤μõiøμ÷\õ¤¯® 

(C) Sinorhizobium (D) Cyana bacterium 
 ]÷Úõøμ÷\õ¤¯®  \¯÷Úõ £õUj›¯® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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179. In cellular endosperm, cell wall formation occurs 
ö\À¾»º P¸ EnÄzv_UPÎÀ ö\À _Áº E¸ÁõÁx 

(A) First mitosis (B) Second mitosis 

 •uÀ ø©mhõ]ì £S¨¤À  CμshõÁx ø©mhõ]ì £S¨¤À 

(C) Meiosis – Phase – I (D) Meiosis – Phase – II 
 ª¯õ]ì – {ø» – I  ª¯õ]ì – {ø» – II 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

180. Match the following and find the correct series. 
RÌPshÁØøÓ ö£õ¸zv Auß \›¯õÚ Á›ø\ø¯z ÷uº¢öukUP.  
(a) Ocimum 1. Longitudinal slit 
 B]©®  ö|kUS öÁi¨¦ 
(b) Datura 2. Transverse slit 
 ÷hmkμõ  SÖUS öÁi¨¦ 
(c) Solanum 3. Valvular  
 ö\õ»õÚ®  ÁõÀÄPÒ ‰»©õP 
(d) Cinnamomum 4. Apical pores 
 ]ßÚ÷©õ©®  ~Ûz xøÍPÒ ‰»©õP  

 (a) (b) (c) (d) 
(A) 2 1 4 3 
(B) 2 3 4 1  
(C) 2 4 3 1 
(D) 3 2 4 1 
(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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181. Name the garden laid down below the ground level. 
–––––––––––– Gß£x uøμ©mhzvØS R÷Ç E¸ÁõUP¨£k® ÷uõmhzvøÚ 
ö£¯›kP. 

(A) Sunken garden (B) Roof garden 

 uõÌÂhz ÷uõmh®  ©õiz ÷uõmh® 

(C) Rock garden (D) Rose garden 
 £õÚ|z ÷uõmh®  ÷μõáõ ÷uõmh® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

182. Primary purpose of botanical garden includes 
uõÁμÂ¯À §[PõÂß •ußø© ÷|õUP® 

(A) To display artwork 
 Pø»¨£øh¨¦PøÍU Põm]¨£kzuÀ 

(B) To conduct research work  
 B´Ä¨ £oPøÍ ÷©ØöPõÒÐuÀ 

(C) To conserve and display wide variety of plants 
 £À÷ÁÖ ÁøP¯õÚ uõÁμ[PøÍ £õxPõzuÀ ©mk® Põm]US øÁzuÀ 

(D) To display rare species 
 A›¯ E°›Úzøu Põm]£kzuÀ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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183. A collection of small plants growing in a transparent, sealed containers
are called as 
öÁÎ°À öu›¯UTi¯, JÎ Fk¸Ä® ‰i¯ Psnõi öPõÒP»ÛÀ ÁÍºUS® 
]Ö ö\iPøÍ CÆÁõÖ AøÇUP»õ®? 

(A) Terrarium (B) Bonsai 

 Psnõiz uõÁμ ÷£nP®  ÷£õß\õ´ 

(C) Lawn (D) Mogul Garden 
 ¦À  ö©õíÀ ÷uõmh® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

184. Alge used for sewage treatment is 
PÈÄ }º _zvP›¨¤À E£÷¯õP¨£k® £õ] 

(A) Chlorella 
 S÷ÍõöμÀ»õ 

(B) Nostoc  
 |õìhõU 

(C) Volvox 
 ÁõÀÁõQì 

(D) Cosmarium 
 Põì÷©›¯® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

185. National Horticulture Mission was launched in 
÷u]¯ ÷uõmhUPø»U SÔU÷PõÒ £o AÔ•P¨£kzu¨£mh Bsk 

(A) 2001 – 02 (B) 2005 – 06 

(C) 2007 – 08 (D) 2010 – 11 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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186. Horticulture is the study that includes 
÷uõmhUPø»xøÓ ‰»® Gøu PØÖU öPõÒÍ»õ®? 

(A) Fruits, vegetables and flowers (B) All food crops 

 £Ç[PÒ, Põ´PÔPÒ ©ØÖ® §UPÒ  AøÚzx EnÄ £°ºPÒ 

(C) Lawn (D) Apple varieties 
 ¦ÀöÁÎ  B¨¤Ò ÁøPPÒ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

187. Select the temperate fruit among the following. 
¤ßÁ¸ÁÚÁØÖÒ ªu©õÚ £Ç ÁøPø¯ ÷uº¢öukUP. 

(A) Mango (B) Jack 

 ©õ  £»õ 

(C) Apple (D) Banana 
 B¨¤Ò  ÁõøÇ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

188. The spices which are planted on large acreage are called 
ö£›¯ £μ¨£ÍÂÀ £°›h¨£k® |Ö©n ö£õ¸mPøÍ ––––––––––––
AøÇUP»õ®. 

(A) Plantation spices  (B) Agronomic spices 

 £°ÖkuÀ |Ö©n¨ö£õ¸Ò  ÂÁ\õ¯ |Ö©n¨ö£õ¸Ò 

(C) Horticultural spices (D) Aromatic spices  
 ÷uõmhUPø» |Ö©n¨ö£õ¸Ò  Áõ\øÚ |Ö©n¨ö£õ¸Ò 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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189. The native of groundnut is 
÷ÁºPhø»°ß ¤Ó¨¤h® 

(A) Philippines (B) India 

 ¤¼¨ø£ßì  C¢v¯õ 

(C) North America (D) Brazil 
 Áh Aö©›UPõ  ¤÷μ]À 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

190. One of the main objectives of green manuring is to increase the content
of 
uøÇ Eμ Ch¼ß •UQ¯U SÔU÷PõÎÀ JßÖ ©so¾ÒÍ uøÇa\zøu E¯ºzu 
Cx EuÄ®. 

(A) Oxygen (B) Nitrogen 

 BU]áß  ø|mμáß 

(C) Hydrogen (D) Argon 
 øímμáß  BºPß 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

191. Polyembryony is commonly seen in which of the following? 
¤ßÁ¸ÁÚÁØÔÀ £» P¸ÁÍºa] GvÀ ö£õxÁõP GvÀ Põn¨£kQÓx? 

(A) Potatoes (B) Tomato 

 E¸øÍUQÇ[S  uUPõÎ 

(C) Orange (D) Onion 
 Bμg_  öÁ[Põ¯® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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192. To obtain virus free healthy plants from a diseased one by propagation,
which part of the diseased plant will be taken? 
~s ö£¸UP öuõÈÀ~m£ •øÓ°ÚõÀ J¸ ÷|õ²ØÓz uõÁμzv¼¸¢x øÁμì 
AØÓ ÁÍ©õÚ uõÁμ[PøÍ ö£Öu¾US ÷|õ²ØÓ uõÁμzvß G¢u £Sv 
£¯ß£kzu¨£kQÓx? 

(A) Apical meristem 
 ~Û BUSz v_ 

(B) Palisade parenchyma  
 £õ¼÷\m £õμ[ÚP©õ 

(C) Both apical and axillary meristems 
 usk ~Û ©ØÖ® ÷PõÚ BUSz v_ Cμsk® 

(D) Epidermis 
 ¦Óz÷uõÀ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

193. The three main types of artificial selection are 
RÌPshøÁ ö\¯ØøPz ÷uºÂß ‰ßÖ •UQ¯ ÁøPPÍõS®. 

(A) Mass, pureline, germ (B) Mass, pureline, clonal 

 Tmk, y¯Á›ø\, ©μ£qTÖ  Tmk, y¯Á›ø\, |PÀ 

(C) Clonal, pureline, germ (D) Mass, germ, natural 
 |PÀ, y¯Á›ø\, ©μ£rTÖ  Tmk, ©μ£qTÖ, C¯ØøP 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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194. Breeding of crops with high levels of minerals, vitamins and proteins is
called 
PÛ©[PÒ, øÁmhªßPÒ, ¦μu[PÒ {øÓ¢u uõÁμ[PøÍ ö£¸UP® ö\´²® 
•øÓ? 

(A) Somatic hybridization (B) Biofortification 

 EhÀ P»¨¦Özu®  E°›ÁÈ Fmh® 

(C) Biomagnification (D) Micropropagation 
 E°› ö£›uõUSuÀ  ~s ö£¸UP® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

195. Fusion of complete protoplast from one species to another species is
called 
J¸ ]ØÔÚzvÀ C¸US® ¦÷μõm÷hõ öÁöÓõ¸ CØÔÚzvÀ C¸US® 
¦÷μõm÷hõ¤Íõìkhß Cøn²® CønÂØS GßÚ ö£¯º 

(A) hybrid (B) cybrid 

 P»¨¤Ú®  ø\¤›m 

(C) hybridisation (D) sterlity 
 P»¨¤Ú©õUP®  ©»mkußø© 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

196. Desired improved variety of economically useful crops are raised by 
öu›Ä ö\´¯¨£mh E¯ºμP ö£õ¸Íõuõμ® £¯ßu¸® £°ºPøÍ E¸ÁõUS® 
•øÓ 

(A) Natural selection (B) Hybridization 

 C¯ØøPz ÷uºÄ  P»¨¦Özu® 

(C) Mutation (D) Biofertilizers 
 \kv ©õØÓ®  E°› Eμ[PÒ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 



Botany – 268  
   
 

94

197. Black stem rust of wheat is caused by 
÷Põxø©zusiÀ P¸¨¦zx¸ ÷|õø¯ EshõUPUTi¯ §gø\  

(A) Puccinia (B) Ustilago 

 £U^Û¯õ  Eìi»÷Põ 

(C) Agaricus (D) Alternaria 
 APõ›Pì  BÀhº÷Ú›¯õ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

198. The mode of spreading little leaf of Brinjal disease is 
Pzu›°À ]ØÔø» ÷|õ´ –––––––––––– ‰»® £μÄQÓx.  

(A) Seed (B) Water 

 Âøu  }º 

(C) Air (D) Vector 
 PõØÖ  Phzv 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

199. One of the following diseases is not occurring in sugarcane 
RÌPshÁØÖÒ G¢u ÷|õ´ P¸®ø£ uõUSÁvÀø»? 

(A) Wilt disease (B) Red rot disease 

 Áu[S {ø»  ]P¨¦ `ß {ø» 

(C) Ring spot disease (D) Whip smut disease 
 ÁøÍ¯ ¦ÒÎ {ø»  E»º¢u xÎº {ø» 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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200. Jasmine is propagated through 
©À¼øPa ö\i Cuß ‰»® ö£¸UP® ö\´¯¨£kQÓx 

(A) Layering or rooted cuttings (B) Grafting 

 £v¯ªhÀ AÀ»x ÷Áº uÔ¨¦PÒ  Jmk•øÓ 

(C) Micropropagation (D) Budding 
 ~sqhÀ¨ö£¸UP®  ö©õmikuÀ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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